CXWM/CXWL series
Prior to Use

1. Changing from the non-auto switch specifications to the auto switch specifications
2. Changing mounting type of the auto switch specifications

CXW?! Series

————
1. In CXWY series, to change from the specification without auto switch to the plate mounting type with auto switch
or to the housing mounting type with auto switch, refer to tables (3) and (4) before ordering.

Without auto switch: CXW'\ﬁ| I:I - I:I

Plate mounting type

with auto switch: CDPXWI\LII I:I s _I:I _______ Table (3)
Housi ting t
wih auto switch: - CDBXWYLIM=[] -~ Tavee ¢

2. In CXWY series, to change from the plate mounting type with an auto switch to the housing mounting type with
an auto switch or vice versa, refer to tables (3) and (4) before ordering.

Plate mounting type

with auto switch: CDPXWH:I S - I:I ~Table (3)
!
withauto switeh: . CDBXWELIM=[] -Table (&

Table (3) Plate Mounting Type with Auto Switch
(CDPXW ' 00-0) Component Parts for Mounting Switches and No. of Component Parts

10 016 020 025 232
Component parts Material Assembly model no. for mounting switch ©
copxw} | copxw) | copxw) | copxw! | corPxw!
10S-0 16S-0 20S-0 258-0 32s8-0
Switch mounting block | Aluminum alloy 1 1 1 1 1
Block mounting screw | Chrome steel/Nickel plated 2 2 2 2 2
Switch mounting screw | Chrome steel/Nickel plated| 2 2 2 2 2
Hexagon nut Carbon steel/Nickel plated 2 2 2 2 2
Magnet — 1% — — — —
Socket Brass/Electroless nickel plated 2 — e
Plug (M-5P) Brass/Electroless nickel plated 2 2 2 — —

Note 1) “O” mark indicates strokes.

Note 2) In the case of 210, the 25 mm stroke has two magnets that are bonded in the holes on the side of the
housing. Those with strokes of 50 mm to 100 mm have one magnet. Those with other bore sizes have a
built-in magnet in their housings.

Note 3) For the assembly model no. for mounting switch, order with COPXWMOO-O for CXWM series and order
with CDPXWLODO-0O for CXWL series respectively.

Table (4) Housing Mounting Type with Auto Switch
(CDBXW !"0-01) Component Parts for Mounting Switches and No. of Component Parts

210 016 220 025 232
Component parts Material Assembly model no. for mounting switch
coBxw! | coBxw! | coBxw! | cpBxw} | cpBxw!
10M-O 16M-0 20M-0 25M-0 32M-0

Magnet mounting block assembly | Aluminum alloy 1 1 1 1 1
Switch mounting rail | Aluminum alloy 1 1 1 1
Spacer Aluminum alloy/Anodized 2
Block mounting screw | Chrome steel/Nickel plated 2 2 2 2 2
Screw for mounting rail | Chrome steel/Nickel plated 2 2 2 2
Switch mounting screw | Chrome steel/Nickel plated 2 2 2 2 2
Hexagon nut Carbon steel/Nickel plated 2 2 2 2 2
Hexagon socket head plug | Chrome steel/Nickel plated 2 2 2 — e

Note 1) “O0” mark indicates strokes.

Note 2) In the case of 810, CDPXWL'10-0] can NOT be changed to CDBXW!'10-0. (CXW1'10-0 can be changed to
CDBXW!'10-0])

Note 3) For the assembly model no. for mounting switch, order with CDBXWMOO-O for CXWM series and order
with CDBXWLOO-O for CXWL series respectively.

658



Slide Unit: Built-in Shock Absorber

Slide Bearing Type

CXWM series

210, 16, 020, 325, 32

Basic type

Cylinder with auto switch

CXWM|16]

Symbol | Specifications/Mounting

With auto switch/
DB N "
Housing mounting

1 Bearing type

With auto switch/

Db Plate mounting

cxw*

How to Order

“ Slide bearing

Bore size/Stroke (mm)

—(150|

Port thread type
. M thread | 610 to 820
Nil
Rc 1/8
TN |NPT 1/8| 025, 032
TF G1/8

—(150|

—[7ew] |—

210 (25), 50, 75, 100

16 (25), 50, 75, 100, 125, 150, 175, 200

220 (25), 50, 75, 100, 125, 150, 175, 200

925 (25), 50, 75, 100, 125, 150, 175, 200

232 (25), (50), 75, 100, 125, 150, 175, 200

Note1) For the strokes indicated in the parentheses of the 610,
216 and 925, shock absorbers are to be mounted on
both sides of the plate. For the strokes indicated in the
parentheses of the 820 and 232, a shock absorber is to
be mounted on single side of the plate.

Note2) For the strokes other than those indicated above, refer to

page 660.
Note3) For 616, 820 and 925, strokes up to 300, and for 32,
strokes up to 250 are available as Made-to-Order. (-XB11)

End lock

Made to Order
# Refer to page 660 for the

Made to Order
specifications.

Nil 2 pes.

S 1 pc.

n “n” pcs.
Auto switch

[Nt ]

Without auto switch ‘

# For the applicable auto switch
model, refer to the table below.

Built-in Magnet Cylinder Model

Number of auto switches

Nil

None

T

Applicable Auto Switches/Refer to pages 1119 to 1245 for further information on auto switches.

If a built-in magnet cylinder without
an auto switch is required, there is
no need to enter the symbol for the

auto switch.

(Example) CDPXWM20-100

E Wiring Load voltage Rail mounting Applicable cylinder size | Lead wire length (m) * P P
. ! - re-wirex pplicable
Type| Special function ectnca Output " Housing | Plate | 0.5 | 3 | 5 [None <l
entry (Output) DC AC | Perpendicular | In-line mounting | mounting| (Nil) | (L) | 2) | (N) connector load
3-wire (NPN) F7NV | F79 ® 0 0| — @)
<
£ Grommet 3-wire (PNP) 5V.12V F7PV | F7P ® 0O — O Gt
s -
H ) F7BV | J79 s10 | @ [@]O]— @)
2- -
2 Connector wire 2v J79C - ”;g 016 | ©® [ ©® ® @ — Relay,
o B § 3-wire (NPN) | 24V - |FINWV| F79W gzs 020 | @ @ O — @)  cireuit| PLC '
£ |Degrostoindoaton -wire (PNP) 5v.12v - |[FPW]| o5 | 025 [@ @O | O |-
B | (@odlorindialor) | rommey e 12V F7BWV| J79W 032 | @ (@[O] [6) B ‘CXZ
§ Waler tesistant (2ol e F7BAV**|F7TBA*** [ @)
2aoorndeat) 4-wire (NPN) 5V, 12V - F79F ® 0 O — O IC circuit
e (NPN equivelent) | — 5V - - A76H o0 - |- - ICcircuit|  —
@
$ - - | 200V | A72 | A72H °10 "' @[ |- -
c e 016 _
K] Grommet | ™ | 12V | 100V | A73 | A73H | 020 ”;g o0 - - Rola CXT
H 2| 2wie |, [5V.12V]0Vals| ABD | ABOH | 025 | °7) [@ (@[ - - [icm Y
g - Connecloré 12v — LIRS = 232 032 o000 - - CXSJ
2 2 5V,12V[24Vorless| ABOC - o000 - 1€ cicat
3 @ | e (VPN equialen) | — 5V — E76A ® 0 - |- — — cxs
& arommet |~ |, L,y 12V [100v |~ [ET3A | o10 - [e]e[-T- - - | Relay,
2 5V, 12 V{100V orless E80A o0 - - - |iCirauit| PLC
= Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m - Nil  (Example) F79W = Solid state auto switches marked with “O” are produced upon receipt of order.
3m- L  (Example) F79WL #x |t is impossible to mount solid state switches to the housing mounting @10.
5m- Z (Example) F79WZ D I:l
None - N  (Example) J79CN -
« Since there are other applicable auto switches than listed, refer to page 703 for details.
« For details about auto switches with pre-wired connector, refer to pages 1192 and 1193. X1

* Auto switches are shipped together (not assembled).

659 ®



CXWM series

Built-in shock absorber

This is a built-in shock absorber type in which
the shock absorber is enclosed in the housing.
Compared to the CX2 series with shock
absorber, this type achieves space savings in
the longitudinal direction (except 25 mm stroke).
Dramatically reduced
installation labor

The machining precision required for
positioning during the installation of the
cylinder has been reduced through the
adoption of a special pin hole machining
process, thus decreasing the amount of
labor involved in adjustment.

Provided with an end lock
mechanism

An end lock is also available, which
maintains the cylinder’s original position
even if the air supply is interrupted.

N

Specifications
Type Non-lube
Fluid Air
Proof pressure 1.5 MPa
Max. operating pressure 1.0 MPa
Min. operating CXWM10/16 0.15 MPa
pressure CXWM20/25/32 0.1 MPa

Ambient & fluid temperature

—10 to 60°C (No freezing)

Piston speed (Non-lube)

30 to 500 mm/s

Cushion

Shock absorber

Stroke adjustable range

Standard stroke: £2 mm

Accessory (Option)

Straight knock pin (2 pcs.), Adjusting bolt* (-X138)

# “-X138” has a stroke adjustable range of —12.5 mm on one side.

Maximum Load Weight/Non-rotating Accuracy/Maximum Holding Force

Model CXWM10 | CXWM16 | CXWM20 | CXWM25 | CXWM32
Maximum load weight* 1kg 4 kg 5 kg 6 kg 10 kg
Non-rotating accuracy

(Deﬂecﬁon ofa D‘STUH) +0.09° +0.03° +0.08° +0.02° £0.01°
rod is not included.

Maximum holding force

( End lock model ) 392N 98.1N 147N 2452N 392.3N

* Place the center of gravity of the load and center of the slide unit close during operation.
If they are placed far apart from each other, please consult with SMC.

Shock Absorber Specifications

Shock absorber (1) HBU&OS-X552‘R30805 RB1006-X552 [ RB1006 RB1411-X552 RB1411
Applicable slide unit CXWM10/16-00 CXWM20/25-000 CXWM32-00
energy absorption (J) 0.98 3.92 14.7
Stroke absorption (mm) 5 6 11
Max. collision speed (m/sec) 0.05t05
Max. operating frequency (cycle/min) @) 80 70 45
Max. allowable thrust (N) 147 353 667
ade 10 - . : o _
Matder | Made to Order: Individual Specifications Ambient temperature range (°C) 101080
(For details, refer to pages 706 to 708.) Spring force (N) Extended 1.96 4.22 6.86
Symbol Specifications Retracted 3.83 6.18 15.30
-X138 | Adjustable stroke Weight (g) 15 25 65
-X146 | Hollow piston rod Note 1) “-X552” is an exclusive shock absorber installed in the housing, and is the screw not attached
-X168 | Helical insert thread specification of the outer part of the outer tube. The shock absorber plate mounting type of 25
—— and 50 strokes have the screw attached specification.
-X169 | 2 built-in magnets

Made to Order Specifications
Click here for details

Note 2) It denotes the values at the maximum energy absorption per one cycle. Therefore, the
operating frequency can be increased according to the energy absorption.
= The shock absorber service life is different from that of the cylinder depending on the operating
conditions. Refer to the RB series Specific Product Precautions for the replacement period.

Best Pneumatics No. 6.

® 660

Symbol Specifications
-XB11 | Long stroke type Theoretical 0utput (N)
-XB13 | Low speed cylinder (5 to 50 mm/s) Rod size |Piston area Operating pressure (MPa)
-XC22 | Fluororubber seal izt (mm) (mm?) 02 | 03| 04| 05| 06| 07| 08] 09
CXWM10-00 6 101 20 30 40 51 61 7 81 91
CXWM16-00 10 245 49 74 98 123 | 147 | 172 | 196 | 221
CXWM20-00 12 402 80 | 121 | 161 | 201 | 241 | 281 | 322 | 362
CXWM25-000 14 597 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
CXWM32-00 20 980 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?)
Moisture e
Control Tube Standard Stroke
IDK Series - Model Standard stroke (mm)
When operating an actuator with a small diameter 25 50 75 100 125 150 175 200
and a short stroke at a high frequency, the dew CXWM10-00 | (n® o [ ) [ ] — — — —
condensation (water droplet) may occur inside the CXWM16-00 | (x© [ ] [ ] [ ] [ ] [ J [ J [ J
piping depending on the conditions. CXWM20-010J ()@ ) ) () ) [ [ )
Simply connecting the moisture control tube to the CXWM25-00 (1) ) ) ° ) ) ° °
actuator will prevent dew condensation from oc- - N
curring. For details, refer to the IDK series in the CXWM32-00 ()@ ()@ L L) L L L] L]

Note 1) The strokes marked with “(x)” has an absorber of double side plate mounting type.
Note 2) The strokes marked with “(x)" has an absorber of single side plate mounting type.


http://www.smcworld.com/products/en/s.do?ca_id=495#se_1351
http://www.smcworld.com/products/en/custom.do

Slide Unit: Built-in Shock Absorber
Slide Bearing Type

Weight (kg)
Stroke (mm)

25 50 75 100 125 150 175 200
CXWM10 0.28 0.35 0.42 0.49 - - - -
CXWM16 0.46 0.59 0.72 0.85 0.98 1.11 1.24 1.37
CXWM20 0.69 0.87 1.03 1.22 1.40 1.58 1.75 1.93
CXWM25 0.95 117 1.38 1.60 1.82 2.03 2.31 2.47
CXWM32 2.01 2.38 2.77 3.16 3.56 3.94 4.34 4.72

Model

Additional Weight with End Lock (CXWMCI-CIR) (kg)
Applicable model Additional weight
CXWM10 0.08
CXWM16 0.14
CXWM20 0.15
CXWM25 0.20
CXWM32 0.43

Operating Direction with Different Pressure Ports

Operating direction of housing when the plate is With end lock (CXWM-CIR)

Accessory

CXWM series

Straight Knock Pin (Option)

fixed Operating direction of housing when the plate is g"g’
fixed o2
T+
g8 o ®
—{ [ =
> a — =
~ —1 [ A== ;
1
& ] s S e | a B | = — a ¥
ﬁ L
Standard side of housing Standard side of housing
(Mounting side) Mounting side)
, c». (mm)
| : I ! % ] . Model L oD | Model*
TIV7777777777 TR SN CXWM10 | 10 | 4 | Msa-10
% d ‘ CXWM16 10 5 MS5-10
Operating direction of the housing Operating direction of the housing CXWNM20 15 6 MS6-15
‘Pressureport ‘A‘B‘C‘D‘E‘F‘ ‘Pressureport ‘A‘B‘C‘D‘E‘F‘G‘H‘ CXWM25 15 6 MS6-15
‘ Operating direction ‘R\ght‘ Left ‘ Left ‘R\ght‘ Left ‘Right‘ Operating direction‘R\gh\‘ Left ‘ Left ‘R\gm‘R\gm‘ Left ‘Left ‘Righl‘ CXWM32 20 8 MS8-20

* There are 9 possible reciprocating piping methods. * There are 16 possible reciprocating piping methods.

Deflection of Piston Rod by Center Loading (Reference)

When center loading is added to the center of When center loading is added to the center of
the housing the plate

Deflection width

(mm) (mm)
Stroke Stroke
Model 100 200 Model 50 (100|150 | 200
Load (N) Load ()

CXWM10 9.81 0.07 - CXWM10 | 2.94 |0.06[0.30| - -
CXWM16 39.2 0.05 0.20 CXWM16 | 4.90 |0.03[0.10|0.25|0.45
CXWM20 49 0.04 0.15 CXWM20 | 7.84 |0.083|0.09|0.18|0.35
CXWM25 58.8 0.02 0.08 CXWM25 | 9.81 |0.03/0.09|0.16|0.25
CXWM32 98.1 0.02 0.07 CXWM32 | 29.42 |0.02]0.05|0.10|0.15

Note) The values denote the total width of the
deflections in the upward/downward
direction.

* Manufactured by Misumi Trading Ltd.

661

(]

(3]
'

(=]
>
oD
—

(]
(7]



CXWM series

Construction: 210, 216, 025

CXWM10

With end lock

CXWM16, 25

216/With end lock ©25/With end lock

662 Zswc



Slide Unit: Built-in Shock Absorber

Construction: 210, 216, 925

Component Parts

CXWM series

Slide Bearing Type

Component Parts: With End Lock

No. Description Material Note No. Description Material Note

1 |Rod cover Aluminum bearing alloy 24 | Locking body Aluminum alloy Hard anodized
2 |Housing Aluminum alloy Hard anodized 25 | Lock finger Alloy tool steel Nickel plated after quenched
3 |Piston Aluminum alloy Chromated 26 | Lock piston Carbon tool steel |Eleciroless nickel plated after quenched
4 |Piston rod Carbon seelpipig for machine constuctons | Hard chrome plated 27 | Rod cover Aluminum alloy

5 |Plate Aluminum alloy Hard anodized 28 | Return spring Spring steel Zinc chromated
6 |Lock nut Carbon steel Nickel plated 29 | Adj bolt Chromium steel Nickel plated
7 | Adj bolt Chromium steel Nickel plated 30 | Body gasket NBR

Set screw X . 31 | Rod seal NBR
8 (For fixing rods) Chromium steel Nickel plated 32 | Piston seal NBR
9 Set screw (For fixing Stainless steel 33 | Steel ball High carbon chrome bearing steel
shock absorbers) 34 | Steel ball High carbon chrome bearing steel

10 | Retaining ring Carbon tool steel Phosphate coated 35 | O-ring NBR

11 |Plug Brass Nickel plated 36 | Round type Rretainingring|  Carbon tool steel Phosphate coated
12 | Magnet — 05 37 | Lock nut Carbon steel Nickel plated
13 |Set screw for seal Chromium steel Nickel plated 38 | Plug Chromium steel Nickel plated
14 | Spring Stainless steel

15 | Type CR retaining ring| Carbon tool steel Replacement Parts: Seal Kit

16 | Round type Rretaining ring|  Carbon tool steel Phosphate coated End Lock

17 | Shock absorber — (RB0B05-X552 or.HB1006-X552) Model Kitno. Contents

18 | Socket Brass Electroless nickel plated CXWM10 CXWM10R-PS
;2 ﬁ::k:etal zgg CXWM16 CXWM16R-PS | Set of nos. above @, ¢
21 | Piston seal NER #® Seca)l(‘l:\i’lhinnzcsludes 3 CX‘%M;SS Roifer the seal kit, based on each bore
22 | Piston gasket NBR Ssize. h R )
23 | Cylinder tube gasket NBR

Replacement Parts: Seal Kit
Cylinder Body

Model Kit no. Contents
CXWM10 CXWM10-PS
CXWM16 CXWM16-PS Set of nos. above @), @), 23
CXWM25 CXWM25-PS

« Seal kit includes @0, @), @3. Order the seal kit, based on each bore size.
(The piston gasket @ is not replaceable.)
= Since the seal kit does not include a grease pack, order it separately.

Grease pack part no.: GR-S-010 (10 g)

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

663




CXWM series

Construction: 20, 32

@O o @ @ (f)
) y T

€

B=

RIOIBIOOIG]

With end lock Gs\ .

e

B—
—]

e

o b b

poS
&
=

g

Component Parts

Component Parts: With End Lock

No. Description Material Note

No. Description Material Note
1 _|Rod cover Aluminum bearing alloy — 1 | Locking body Aluminum alloy Hard anodized
2 |Housing Aluminum alloy Hard anodized 2 | Lock finger Alloy tool steel Nickel plated after quenched
3 [Piston Aluminum alloy Chromated 3 | Lock piston Tool steel Electroless nickel plated after quenched
4 |Piston rod Carbon steel for machines| Hard chrome plated 4 |Rod cover Aluminum bearing alloy
5 |Plate Aluminum alloy Hard anodized 5 |Steel ball High carbon chrome bearing stee!
6 |Adj bolt Chromium steel Nickel plated 6 |Steel ball High carbon chrome bearing steel
7 | Hexagon socket head set screw Chromium steel Nickel plated 7 | Round type R retaining ring | Carbon tool steel Phosphate coated
8 |Retaining ring Tool steel Phosphate coated 8 |Return spring Spring steel Zinc chromated
9 |Magnet — 9 |Plug Chromium steel Nickel plated
Spring Stainless steel 1“88‘ 50), 75to (200) ST Chromium steel Nickel plated
Type CR retaining ring Carbon tool steel 25),50 ST | H nut Carbon steel Nickel plated
_12 |Round type R retaining ring Carbon tool steel Phosphate coated 1N‘im] (50), 7510 (200) ST | Adij bolt| Chromium steel Nickel plated
Shock absorber — RB1006-X552, RB1411-X552 (25),50 ST | Shock absorber — RB1006 or RB1411
4 | Hexagon socket head set screw Chromium steel Nickel plated 2 | Body gasket NBR
5 | Hexagon socket head plug Chromium steel Nickel plated 3 |Rod seal NBR
6 | Hexagon socket head set screw Chromium steel Nickel plated 4 |Piston seal NBR
7 |Piston seal NBR 5 | O-ring NBR
g 20](_! sdealt 5 et mg: Note) The strokes indicated in the parentheses are of CXWM20, and
ylinder tube gaske CXWM32 includes the strokes indicated in the parentheses.
20 [Piston gasket NBR
Replacement Parts: Seal Kit Replacement Parts: Seal Kit
Cylinder Body End Lock
Model Kit no. Contents Model Kit no. Contents
CXWM20 CXWM20-PS @ @ CXWM20 CXWM20R-PS @ @ D @
OXWM32 OXWM32-PS Set of nos. above 7, 8, @9 CXWM32 CXWM32R-PS Set of nos. above (2, (3, ), (5

* Seal kit includes (2, (8, (9. Order the seal kit, based on each bore size.
(The piston gasket @ is not replaceable.)

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

664

* Seal kit includes (2
size.

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

3, (4, (5. Order the seal kit, based on each bore



Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

210 Basic Type: CXWM10-|Stroke/50 to 100

Max.ZZ
) Q
X2 x06.5 counterbore depth 3. F p 005 2
=3
8

{ (@4H7 hole pitch)

0012

4n770

2xM8x1.0

Adjustment bolt | {
T
r . . N
&
@
&
©-

1<)

; '
S 4-—pe— - 8 | -©
} 4 ) i ] I
. +0.012 q-l
@4n7° 0"~ depth 6 4 x M4 x 0.7 thread depth 6 Socket 3
4 positions of set screws for fixing shock absorber (M4) 2xM5x0.8

Cylinder port

37
48
|

T

2 x M4 x 0.7 socket connection port (2 positions of hexagon socket head cap plug)

o4 H7 F8O

18

o @ P S gy =
i A L

o
©
14.5 L - 2 x M5 x 0.8 plug (M-5P)
(Port on the housing side)
Max. 8 10 4 10 9.5
2 x 2 x o4n7 ‘§°"%depth 5 r F [ 4 x 03.2 through
4 x 06.5 counterbore depth 3.3
5
)
= ey L
¢l o —— * >
117 ==
8 g ﬁ}} ! ] 5

I8
I

—— — é#
| @

2x2x M4 x0.7 thread depth 8 2 x RB0805-X552 cxz
Shock absorber

(mm)
Model F L P Q S SS z Y24
Note) For 25 stroke, the shock absorber is mounted on a CXWM10-50 26 63 40 154 52 92 144 | 1815
plate. For dimensions of the 25 stroke, refer to page CXWM10-75 26 88 65 204 77 17 194 | 2315
666. -
CXWM10-100 26 113 90 254 102 142 244 | 2815




CXWM series

210 Basic Type: CXWM10-[25 stroke]

Max. 176
104 ,
2 x 2 x 93.3 through 87 27
2x2x06.5 +
counterbore depth 3.2 21 25+005
(047 hole pitch)
™
£
@
=l
o
2
6 w2 & tﬁ
S -
Y
s = e =N
&
b
+0.012
@4n7°0" “depth 6 4xM4x07 Socket
2 x M4 x 0.7 socket connection port thread depth 6
(2 positions of hexagon socket head cap plug)
o 4H7 8
Kl @
H’_J pr—
° ] |3~5+/ o>
ol © — &3 % -
™ S
<©
14.5 38 2 x M5 x 0.8 plug (M-5P)
(Port on the housing side)
4 x ©3.2 through
4 x 6.5 counterbore depth 3.3
2% 2 x o4n7 %% depth 5 10 94 10 9.5
21 25
)
- ©
| A ] °
\fék N7 7 ]
&
S
FA R o O 5
o =
B 2] U | ©
J7 >
AW 37
2 x 2 x M4 x0.7 thread depth 8 Max.
31

666

22

2xM5x0.8
Cylinder port

2xM8x1.0
RB0805
Shock absorber




Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

210 With End Lock: CXWM10-/Stroke/50 to 100|R

2x2xM4 x 0.7 thread depth 8 Max. ZZ
Mmm 2 x RB0805-X552
2xM8x1.0 NBVOY9 A99e
Adjustment bolt ’/ Shock absorber
S o— |/ 1°
| s =
| BE—- sle
e S
3 $ @ @ ST

== -
d 4ﬁ 4 x 93.2 through Socket

4] 9]_ \ 2 M5 x0.8 hexagon socket head cap plug 4x06.5 counterbore depth 33 2 x M5 x 0.8

: Cylinder port
(Cylinder port) 2 x M5 x 0.8 plug (M-5P)

Max. 9 145 (Cylinder port)  Max. 8
— S ©
o|®(N| ©|
H e @/ &1
o4t
10 9.5 2 x 2 x 23.3 through

End lock mechanism 22 10 047012 depth 6 2 x 2 x 96.5 counterbore depth 3.2

=
o< ==

hd @

56.5
52
40
aii
<
®
du7 0
j‘m
#
|
1
40
-3

\4 x M4 x 0.7 thread depth 6 '\ 4 positions for set screws
for fixing shock absorbers (M4) (mm)
Model 44
CXWM10-50R 204.5

‘.ﬁ ¢% CXWM10-75R | 2545
— 2 CXWM10-100R | 304.5

2 x M5 x 0.8 hexagon socket head cap plug 105 5
(Cylinder port)

o
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM10-[Stroke |, CDBXWM10-[Stroke R CDPXWM?10-[Stroke|, COPXWM10-[Stroke|R
Auto switch 22 Met_mounting block Auto switch Hw Ht

o I

o |/

B
N

S ™1 ——] o ) —
e e L1k N m,ﬂcxz
i ® © 4 L) ®
=] = P =
Note 1) The dimensions show D-A7 and D-A8. (mm)
Note 1) The dimensions show D-E7CJA and D-E80A. Auto switch model Hw | Ht Hv
Note 2) For 25 stroke, the shock absorber is mounted on a single side D-A70], D-A80 23 15 10.5
of the plate. For dimensions of the 25 stroke, refer to page D-F70, D-J79, D-J79W, D-F700W,
668. D-F79F, D-F7BA, D-FINT 2w
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 176 | 17.56
D-F701V, D-F7O0WV, D-F7BAV 23 15 14
D-J79C 24 17.5 16

Note 2) For 25 stroke, the shock absorber is mounted on a
single side of the plate. For dimensions of 25 stroke,
refer to page 668. 'XD

667



CXWM series

210 With End Lock: CXWM10-[25 Stroke|R

2 x2x M4 x 0.7 thread depth 8

Max. 176
2 x 2 x 0417°8°"2 depth 5
M8
Adjustment bolt
©
- 8 e @ -
]
: | - B[
ol [t T
® 918 e
h ==
2 M5 x 0.8 hexagon socket head cap plug 0.5, 40 4 x 23.2 through
(Cylinder port) 4[9 4x06.5 counterbore depth 3.3 Cylinder port
Max. 9 145 2 x M5 x 0.8 plug (M-5P) 2 x RB0805 shock absorber
™~ - (Cylégder port) (Single housing installed)
g 0o Qo  HFE—
O, 1
|
©

End lock mechanism

' '+nm2
o4H7 o
fm

Max.31

+0012!

40012 1095 2x2x033through
éz“”ww 2 x 2 x 26.5 counterbore depth 3.2
" (&
,,/; - ©)
P ey &
&

47 o
%4 =3
€ éh

56.5
52
40

Pzl

©

@)

I

37
40

&
©

=

&2

2 positions for set screws for

\4 X M4 x 0.7 thread depth 6

fixing shock absorbers (M4)

2 x M5 x 0.8 hexagon socket head cap plug 105 . &6
(Cylinder port)
)
{ s
1 Do
ol

Housing mounting type with auto switch
CDBXWM10-25, CDBXWM10-25R

22 Magnet mounting block

Auto switch

STl

Note 1) The dimensions show D-E7CJA and D-E80A.
Note 2) 2 magnets for auto switches are equipped to the magnet
mounting block.

668

Plate mounting type with auto switch
CDPXWM10-25, CDPXWM10-25R

Auto switch

Hw

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv

D-A701, D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F70W, 23 15 10
D-F79F, D-F7BA, D-F7TNT
D-A7CH, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7CJWYV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) 2 magnets for auto switches are installed in the

housing.



Slide Unit: Built-in Shock Absorber
Slide Bearing Type

216 Basic Type: CXWM16-|Stroke/50 to 200

CXWM series

Max. ZZ
) Q | 2x2x04.3through
1 - ss s | /2x2x 08 counterbore depth 4.5
E proos
(05w hole pitch) -
5 O o -O— s
2xM8x1.0 £ ;
Adjustment bolt ‘@ 3 LE:} "‘@
o2l T o al o —Iha © N
@@ )T’ o EYA N 59 © &
of /¢ = ¢ ]
K] &
2 _Q___@ -
0517'8°"2 depth 6 4 positions for set screws for fixing shock absorbers (M4) ‘
4 x M5 x 0.8 thread depth 10
x Ve xS freadeee 2x2xM5x08 550 L 78
(Hexagon socket head cap plug)
18,5 .
} o5H7 00" 2xM5x0.8
| Cylinder port
ol ‘Dl i Yy p
7 7
PR RS =l
v } C
Max.6 12 z 12 2x2xM5x0.8
F P 4 x 94.3 through Thread depth 10
| 4 x 08 counterbore depth 4.5
‘ D I ]
| Fo- ¥ [ bd
| 5
K >~
|| —F b —3} W 8 ©
\ (]
} N
5 5 \ AL
Al hd
2 x RB0B05-X552 2 x 2x 0547 '6" depth 6
Shock absorber
CX2
(mm)
Model F L P Q S SS z zz CXW
CXWM16-50 35 63 30 164 52 100 152 188
CXWM16-75 | 325 | 88 | 60 | 214 | 77 | 125 | 202 | 238 |CXT
CXWM16-100 375 113 75 264 102 150 252 288
CXWM16-125 | 425 | 138 | 90 | 314 | 127 | 175 | 302 | 338 |CXSJ
CXWM16-150 55 163 90 364 152 200 352 388
Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM16-175 | 67.5 | 188 | 90 | 414 | 177 | 225 | 402 | 438 |CXS
Refer to page 670 for the dimensions of the 25 stroke. CXWM16-200 80 213 90 464 202 250 452 488

669



CXWM series

216 Basic Type: CXWM16-[25 stroke]

2xM5x0.8

25
24

=
&
b

Cylinder port

2xM8x1.0

RB0805
Shock absorber

670

12

4 x 04.3 through

4 x 08 counterbore depth 4.5

12

3

Max. 184 2 x 2 x 94.3 through
2 x 2 x @8 counterbore depth 4.5
114
75 27
25 25+005
(05H7 hole pitch)
- ol
7z : 2 @?
& h
™ 7 @7
°
= 0 B == 8 & @ i
@ L / 5 é 7
& . : &
N 2
05w *3%"*depth 6 / 4 X M5 x 0.8 thread depth 10 2x2xM5x0.8 55 7.5

(Hexagon socket head cap plug)

Max. 29

102 2x2xM5x0.8
Thread depth 10
25 25
\( 'y
48 7 7
14 ‘ i
| :
o] Al o o~
8
g -
1&1 N B 7
7 7
L Y
~ 2x2x051*8°" depth 6



Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

216 With End Lock: CXWM16-/Stroke/50 to 200/R

2 x 2 x M5 x 0.8 thread depth 10 Max. ZZ
2x2x 05w 87" depth 6 2 x RBOB05-X552 2xM5x0.8
2 X_ M8 x 1.0 Shock absorber Cylinder port
Adjustment bolt
o
S il
o 1 &
@ e iy o
0 5 5 NZ
3 g 8 {0 =
@ S
o & i &> 7
a & o
i L b = =r hd
mk : 4 x 94.3 through Tl
0. - 75 55
4] 1132 x M5 x 0.8 Q& 4 x 08 counterbore depth 4.5 —~

Hexagon socket head cap plug (Cylinder port)

Max. 6
Max T
-

o
®
o

2 x M5 x 0.8 plug (M-5P)
(Cylinder port)

8
frelialsel
A &
l K=
b ¥
0547 8%
o012 2 2x2xo4.3 through
End lock mechanism 23 ,12 0517 "' depth 6 2 x 2 x 88 counterbore depth 4.5
|
e [en ==
2
A
Ik = e  —
1 e e _ m
R el Model zz
& _de o @)

) CXWM16-50R 211

4 positions for set screws T
2 x M5 x 0.8 hexagon socket head cap plug \1or fixing shock abserbers (M4) CXWM16-75R 261
Cylinder port ,Iilét 4 x M5 x 0.8 thread depth 10 CXWM16-100R | 311

CXWM16-125R | 361

o] M CXWM16-150R | 411
@ CXWM16-175R | 461
CXWM16-200R | 511
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM16-[Stroke|, CDBXWM16-[Stroke R CDPXWM16-[Stroke| , CDPXWM16-[Stroke|R
Auto switch Hw Magnet mounting block Auto switch Hw,
g |
e [+ e S © [¢]
i A ? © —— &
ﬁ - - — & £ S
} L]
© — e ——
| !
Loh—e o | 6] e e B
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs | Ht Auto switch model Hw | Ht Hv CXS
D-A70, D-A80 23 12.5 15 D-A70, D-A80 23 15 10.5
D-F70, D-J79, D-J79W, D-F700W, D-F70, D-J79, D-J79W, D-F70IW,
D-F79F, D-F7BA, D-F7NT Sl Bl B D-F79F, D-F7BA, D-F7NT ol G O
D-A70H, D-A80H 22 | 125 | 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 17.5 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7T0WV, D-F7BAV 23 | 125 | 15 D-F70V, D-F70WV, D-F7BAV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16 D-O
D-F7LF 30 | 125 | 15 Note 2) For 25 stroke, the shock absorber is mounted on a
Note 2) For 25 stroke, the shock absorber is mounted on a single side of the plate. For dimensions of 25 stroke, XD
single side of the plate. For dimensions of 25 stroke, refer to page 672. =

refer to page 672.

671



CXWM series

@16 With End Lock: CXWM16-[25 stroke|R

2x 2 x M5 x 0.8 thread depth 10

Max. 184

2 x 2 x o5u7 8"

depth 6
M8 x 10

Adjustment bolt

2XM5x0.8_
Cylinder port

& © 2 [¢]
% e 4
2 oy = 3 @
i 5
B DO @ 39
= = ~¥
N & N ¥
[y K o ©
o} + — oy
2xM5x0.8 4 x 94.3 through N
H%’;%Dga%ogﬁ; ' UEL———JAG 4 x 08 counterbore depth 4.5 7.5 5.5
(Gylinder port Max.st 182 2 -MS x08 plug (M:5P) 2": ;;;)805 shock absorber
(Cylinder port) (Single housing installed)
| ]
0| Heol bA JE
Y < | —
s To 8o o oy
oof tro.mz Max. 29
2517 0
23 _12 40012 12 2 x2x04.3 through
End lock mechanism ! 05+H7 "0” ~ depth 6 /"2 x 2 x 28 counterbore depth 4.5
T L e
/] T >
P
sl 71/ o
ot |/ =
Al xleo|  F Y Loy 4 ® B
~| ©0) s ? P [te] H—
5
o L e
o
& de¢ o ]
\4xM5x0.8
2 x M5 x 0.8 hexagon socket head cap plug \ thread depth 10
(Cylinder port) 96 \ 2 positions for set screws for
-1 fixing shock absorbers (M4)
R s I
> ad

Housing mounting type with auto switch
CDBXWM16-25, CDBXWM16-25R

Auto switch Magnet mounting block
v e 'g block

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A70], D-A80 23 12.5 15
D-F701, D-J79, D-J79W, D-F70O0W,
D-F79F, D-F7BA, D-FINT Bl B
D-A700H, D-A80H 22 | 125 | 15
D-A73C, D-A80C 23 15 | 1756
D-F701V, D-F7T0WV, D-F7BAV 23 | 125 | 15
D-J79C 24 15 | 175
D-F7LF 30 12.5 15

Note 2) 2 magnets for auto switches
magnet mounting block.

are equipped to the

672

Plate mounting type with auto switch
CDPXWM16-25, CDOPXWM16-25R

Auto switch Hw
\

[T Te [E] =
 F =
A ==\
1 & & & L& |
=11 —

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A701, D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, 23 15 10
D-F79F, D-F7BA, D-F7NT
D-A7CIH, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F700WV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) 2 magnets for auto switches are installed in the

housing.



Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

220 Basic Type: CXWM20-|Stroke/50 to 200

7z
-——————— e - -
Q -—

——— ,,E,S,,,, 2 x4 x M5 x 0.8 thread through
2x2x05. 2@1{@7 F p£005 From the opposite side
2 X 2 x09.5 counterbore depth 5 e

(o647 hole pitch) X MOX 10 17 55 2 x4 x07.5 counterbore depth 4.5
< “Adjustment bolt
£
| =1
o E» 63_‘ gv & 2 pc?s‘itions for set screws
So for fixing adjustment bolt (M5)
® & 8
e e B
8 0 0—060—~1o-§ =3 8 su[
é \ =
4 positions
4 x M8 x 1.0 thread depth 9 0617°3%"* depth 8\ for set screws for fixing 2 x 2 x M5 x 0.8 1
shock absorbers {Hexagon socket head cap plug)
19.5
B
20 L 2xM5x0.8
96H7 +3012 Cylinder port
i 7
|
o o] o T o
© A s ¢
& § A = =
i R
2 x M4 x 0.7 thread depth 5 6. N
I o
2x2xM6x1.0thread depth 12 14 z 14
+0012
2x2x06w 9 "d - F P 4 x ©5.5 through
4x09.5 counterbore depth 5.5
o
=} —
el %
~ = b ;
2 x RB1006-X552 (Shock absorber)
Model F L P Q S Ss z

CXWM20-50 | 345 | 64 3 | 170 | 52 | 104 | 156
CXWM20-75 | 34.5 89 60 220 77 129 | 206
CXWM20-100| 39.5 | 114 | 75 | 270 | 102 | 154 | 256
CXWM20-125 | 445 | 139 | 90 | 320 | 127 | 179 | 306
CXWM20-150 | 57 164 90 370 | 152 | 204 | 356
CXWM20-175 | 69.5 | 189 90 420 | 177 | 229 | 406
CXWM20-200 | 82 214 90 470 | 202 | 254 | 456 | 484 D _|:|

Note) For 25 stroke, the shock absorber is mounted on a single side of the
plate. For dimensions of 25 stroke, refer to page 674. 'XD

673



CXWM series

220 Basic Type: CXWM20-[25 stroke|

2 x 2 x ©5.2 through
2x2x09.5 counterbore depth 5

Set screw for fixing
adjustment bolt (M5)

M 4 x M6 x 1.0 thread depth 9/ \

Adjustment bolt

+0.012

674

06H7 0

- B - o Max.1§77 R
S 120 - -
_— 9 —— 2

27 25+0.05
(zG;ho\e pitch) <
£
g
‘% ——
- o0
8 _
s
0 — 00— QT — g ? &
\ — 6
$ [ -
2 positions
+0.012

depth 8

for set screws for fixing

2x2xM5x0.8

29
27.5

shock absorbers

55

/

(Hexagon socket head céb}\ug)

M6 x 1.0 thread depth 12

20 89 2xM5x0.8
oBH7+g 012 " Cylinder port
AL MinS
o
S ‘ B B K
> @
+ vﬁ&u_ P‘\JI o — .
ki
2 x M4 x 0.7 thread depth 5/ __[6| o
&
106 14 Max.33
o —t

14
2x2x06r7 0" thread depth 8\ ==~ —
- \ -277.-25_.]

oo oo

4 x ©5.5 through
4x09.5 counterbore depth 5.5
o

©

62

il
Q.

o

-

2 x RB1006 (Shock absorber)

[+

M10 x 1.0 (Single housing installed)

155

2 x4 x M5 x 0.8 thread through
From the opposite side

2 x4 x07.5 counterbore depth 4.5



Slide Unit: Built-in Shock Absorber
Slide Bearing Type

220 With End Lock: CXWM20-|Stroke/50 to 200/|R

o011 depth 21
(An adjustment bolt M10 x 1.0 x 14 L

to the plate port)

33

K

225

|11

8 14

2x

2x2xM6 x 1.0 thread depth 8

5 x 0.8 hexagon socket head cap plug

"(Cylinder port)

2x

4 x 95.5 through

|
n
eIl

45 001

\ 2xM10x1.0

/
%l.ﬂs ﬁI_ y

2 x 2 x 0617*8°" depth 8

4 x M5 x 0.8 thread through
From opposite side

4x07.5 counterbore depth 4.5

2 positions for set screws
for fixing adjustment bolt (M5)

2xM5x0.8

4 x09.5 counterbore depth 5.5 | Adjustment bolt

M5 x 0.8

Hexagon socket head cap plug

End lock

mechanism

2x2x

2x2 x©9.5 counterbore depth 5
z

PE0O5 . 4xMx 10 vead depi§ |

—-—
| (@647 hole pitch)

5.2 through

il

7

(Cylinder port)
155

° i
A@ g —
3 i S — —
2
3|2l R 2 o8
i jis==
[ o1 Jo |\ -
1 5
§, | letremms \eanoone xo
shock absorbers 3 8o Shock absorber
g+ (mm)
85 6 £ ol Model F L P Q s [ss| z |zz
o ° CXWM20-50R | 345 | 64 | 35 | 170 | 52 | 104 | 156 | 205
CXWM20-75R | 345 | 89 | 60 | 220 | 77 | 129 | 206 | 255
b ! CXWM20-100R| 39.5 | 114 | 75 | 270 | 102 | 154 | 256 | 305
. CXWM20-125R| 445 | 139 | 90 | 320 | 127 | 179 | 306 | 355
o | 2x M5 x 0.8 hexagon socket head cap plug ‘CXwWM20-150R| 57 | 164 | 90 | 370 | 152 | 204 | 356 | 405
(Cylinder port) CXWM20-175R| 695 | 189 | 90 | 420 | 177 | 220 | 406 | 455
CXWM20200R| 82 | 214 | 90 | 470 | 202 | 254 | 456 | 505

Housing mounting type with auto switch

CDBXWM20-[Stroke|, CDBXWN20-[Stroke|R

Auto switch

.

Plate mounting type with auto switch

CDPXWM20-[Stroke|, CDPXWM20-[Stroke|R

Magnet mounting block Auto switch HW
o - b
2 R ==
=
L e | [— =
L § = 4
=t=== —

=3
Note 1) The dimensions show D-A7 and D-A8. (mm

Auto switch model Hw | Hs Ht
D-A70], D-A80 23 12,5 15
D-F70, D-J79, D-J79W, D-F700W,| .. | oo | 15
D-F79F, D-F7BA, D-F7NT
D-A7CH, D-A80H 22 | 125 | 15
D-A73C, D-A80C 23 15 | 175
D-F701V, D-F7O0WV, D-F7BAV 23 | 125 | 15
D-J79C 24 15 | 17.5
D-F7LF 30 12,5 15

Note 2) For 25 stroke, the shock absorber is mounted on
a single side of the plate. For dimensions of 25
stroke, refer to page 676.

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Ht Hv
D-A70], D-A80 23 15 10.5
D-F70J, D-J79, D-J79W, D-F700W, | 5, 15 10
D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F700WV, D-F7BAV 23 15 14
D-J79C 24 [ 175 | 16

Note 2) For 25 stroke, the shock absorber is mounted on
a single side of the plate. For dimensions of 25
stroke, refer to page 676.

CXWM series

675




CXWM series

220 With End Lock: CXWM20-[25 stroke R

. Max. 167
M10 x 1.0 120 4 x M5 x 0.8 thread through
: 7 27 55 17 /From opposite side _
27 25 10012 4x07.5 counterbore depth 4.5
Shock absorber 2x2x06H7 0 depth 8
; 10
) Set screw for fixing
(? oo “adjustment bolt (M5)
13 ) -
3 ﬁ* & | ——— T olgle SIS oF: EIE
W i
\
\
w L
T[T w*i s
e e P 4 Y4 x 05.5 through M10x 1.0 2xM5x0.8
o 4x09.5 counterbore depth 5.5 | Adjustment bolt AL Cylinder port

2 x M5 x 0.8 hexagon socket head cap plug

(Cylinder port)
20

39

@
&

E

\ 2x2xM6x 1.0 thread depth 12

155

[T
3 o 1Y

2xM5x0.8 @6H7+8-°‘2m
Hexagon socket head cap plug T
2 x 2 x 5.2 through

End lock mechanism Max.12 21 14

2 x 2 x29.5 counterbore
106

depth 5
14

27

11

2540.06 . 4x M6 x 1.0 thread depth 9

(0611 Tiole pitch)

r % —
Bl | o —e e 2 8
| T
e
< \
£
g - A\
~° | 2 positions \ \2 x RB1006-X552
So | for set screws for fixing Shock absorber
85 5 & | shock absorbers Jﬁﬁmgde th 8

o

13

2 x M5 x 0.8 hexagon socket head cap plug

(Cylinder port)

Housing mounting type with auto switch
CDBXWM20-25, CDBXWM20-25R

Auto switch
— HW

5 /

Magnet mounting block

mgtn'
hd T
-

,Fj
e 2
—_ —
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A70], D-A80 23 | 125 15
D-F701, D-J79, D-J79W, D-F701W,
D-F79F, D-F7BA, D-FINT i Bl
D-A7C1H, D-A80H 22 | 125 15
D-A73C, D-A80C 23 15 17.5
D-F701V, D-F70WV, D-F7BAV 23 12.5 15
D-J79C 24 15 | 17.5
D-F7LF 30 [ 125 ] 15

Note 2) 2 magnets for auto switches are equipped to

the magnet mounting block.

676

Plate mounting type with auto switch
CDPXWM20-25, CDPXWM20-25R

Auto switch alll - Ht,
Z
= Py ok
Tt =
— eaf
% = O
= hd

=t

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Ht Hv
D-A70], D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F7TOW, | o5 | 15 | 10
D-F79F, D-F7BA, D-F7NT
D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7CJWV, D-F7BAV 23 15 14
D-J79C 24 | 175 [ 16

Note 2) 2 magnets for auto switches are installed in

the housing.



Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

25 Basic Type: CXWM25-|Stroke/50 to 200

2 x 2 x 25.2 through Max. ZZ
2x2x09.5 counterbore depth 5 Q
S — e
S8 s
F ) P+0.05
—Eaew hole pitch)

é
J
s
ad
L
|

X
|
o
|

|
e
il

L

0 '

L . -

4 x M6 x 1.0 thread depth 12 \ 0617'8%" depth 8 4 positions for set screws 2x2xRc1/8 ? L1_0_

— for fixing shock absorbers (M5) Plug (R 1/8) 1
205 L

2xRc1/8
Cylinder port

2x2xM6 x 1.0 thread depth 12 16 yd 16 Max. 6
I —_—
2x2x06m '8 depth 8 | F P 4% 05.5 through
€XcXobnr 0 deph S |
4 x ©9.5 counterbore depth 5.5
] —5— N J
2/

B ——

|

2xM10x1.0
Adjustment bolt

001

50

1
i
67

|

b & I
\\ 2 x RB1006-X552
~Shock absorber CX2

Model F L P Q S SS 4

CXWM25-50 31 66 45 175 52 107 159

CXWM25-75 335 | 91 65 225 77 132 | 209

CXWM25-100 33.5 116 90 275 102 157 259

Note) For 25 stroke, the shock absorber is mounted on a plate. CXWM25-125 £5 1 50 525 12} 52 =03
For dimensions of 25 stroke, refer to page 678. CXWM25-150 585 | 166 90 375 152 | 207 | 359
CXWM25-175 7 191 90 425 177 232 409

CXWM25-200 | 835 | 216 90 475 | 202 | 257 | 459

677



CXWM se

ries

225 Basic Type: CXWM25-[25 stroke]

Max. 203
125
2 x 2 x 95.2 through
2x2x09.5 82 2
counterbore depth 5 28.5 25 +0.05
(o6H7 hole pitch)
<t
Y75 I
N7l - ° [
* I ¢ &
o =+ = e E 5 4 &
id | A\
é £ & ()
2 )
& =]
>\ O 3
© e N
4x M6 x 1.0 thread depth 12 \ 96+7°3°' depth 8 2x2xRo1/8 20|
Plug (R 1/8)
18
|
19.5 43
0By 392 2xRc1/8
@ Cylinder port
T y {/
3| o @) T 7
Rl &7 I ¥
— ©
b
2x2x M6 x 1.0 thread depth 12 16 109 16
2x2x 06w 3" depth 8 285 __ 25 _ 4xo55through ‘
/ 4 09,5 counterbore depth 5.5
—
WY 1 N )
\r £/ W 2xM10x 1.0

84
67
50001

=

678

Shock absorber

Max. 31
f—y




Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

225 With End Lock: CXWM25-|Stroke/50 to 200|R

2 x2x M6 x 1.0 thread depth 12 Max. ZZ
2x2x0617'6°" depth 8
2xM10x 1.0

Adjustment bolt

o14

\ﬁ%*l

l
@
&
9

‘m
6/7
719

50:0[}!

345

[ &
TS
if
i
[¢2]

i_ o) @;@}4
35

3

2xRe1/8 51 4 x 5.5 through 2xRc1/8 10,
75 13|\ Plug (R 1/8)

4x09.5 counterbore depth 5.5 Cylinder port

(Cylinder port)

2xRc 1/8
Max.f_ 20.5 Plug —(Hf/g) - &ax 6
(Cylinder port)
¥ I
e .
385 > é—‘ [ a—
s Yaah e
<t !
0678
16 2 x 2 x 95.2 through
End lock mechani 0617'8”" depth 8 2 x 2 x 9.5 counterbore depth 5
f1€ ouk mechartem 23,18 2 x RB1006-X552 - .T P
11 Shock absorber
s . 4|
D =
8 I 4 ¢o—-B— il mm
¢ 2 \\_A,___ o _ Model | 2Z
P - ps _CXWM25-50R_| 226
© = = CXWM25-75R | 276
\AxMSxW Othread depth 12 \ 4 positions for set screws “CXWM25-100R | 326
2xRc1/8 186 for fixing shock absorbers (M5) TCXWM25-125R | 376
™ CXWM25-150R | 426
— + CXWM25-175R | 476
i + CXWM25-200R | 526
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM25-Stroke|, CDBXWM25-Stroke| R CDPXWM25-[Stroke |, CDPXWM25-[Stroke| R
Auto switch Hw, Magnet mounting block Auto switch Hw
- - e
| ‘ = 1
- 1
e — [Te o o
% ® 4 N ‘ ¢ CX2
{ — —— ¢
o —
LAt e | LB $
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht Auto switch model Hw | Ht | Hv
D-A70], D-A80 23 12,5 15 D-A70], D-A80 23 15 10.5
D-F70, D-J79, D-J79W, D-F70IW, D-F70, D-J79, D-J79W, D-F70IW,
D-F79F, D-F7BA, D-FINT 2 | S| B D-F79F, D-F7BA, D-FINT 2| 238 en o
D-A7CH, D-A80H 22 125 15 D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 17.5
D-F701V, D-F7C0WV, D-F7BAV 23 | 125 | 15 D-F701V, D-F7CIWV, D-F7BAV 23 | 15 | 14
D-J79C 24 15 17.5 D-J79C 24 175 16
D-F7LF 30 [125] 15 Note 2) For 25 stroke, the shock absorber is mounted on a D-OJ
Note 2) For 25 stroke, the shock absorber is mounted on a single side of the plate. For dimensions of 25 stroke,
single side of the plate. For dimensions of 25 stroke, refer to page 680. XD
refer to page 680. B

679



CXWM series

225 With End Lock: CXWM25-[25 stroke|R

2x2xM6x 1.0 thread depth 12 Max. 201
2x2x 061" 3”2 depth 8 &

2xM10x1.0
Adjustment bolt
) o6t B—d |
3 & B I 1% & -@} 8
o & ¥/
g g 8
| 2xRc1/8_ 51 4 x 05.5 through 2xRc1/8 10,8
7.5 13|\ Plug (R 1/8) X095 counterbore depth 55 Cylinder port
(Cylinder port)
2xRc1/8
Max. 6 19.5 Plug (R 1/8 2 x RB1006 shock absorber
~ (Cylinder port) (Single housing installed)
¥ 1 ]
ss We é1 3
: M= AG o
0
< i Max. 3]
23_16 109 16 2 x 2 x 5.2 through
End lock mechanism l 617" depth 8 2 x 2 x 9.5 counterbore depth 5
R v T , @
| T 7
[ 4 8 / 141
s - S
@ i o o ]
3 3 (EET & =1l
3 I I |
| * ¢
i Q& S <
2 positions for set screws { 4 x M6 x 1.0 thread depth 12
for fixing shock absorbers (M5)
2xRc1/8
Plug (R1/8) ™\ 185
(Cylinder port) ’-.
e * J
!
0
@
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM25-25, CDBXWM25-25R CDPXWM25-25, CDPXWM25-25R
Auto switch Hw Magnet mounting block Auto switch Hw
Auto switeh P unting block
-—9 P
&
&
® s
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs | Ht Auto switch model Hw | Ht | Hv
D-A70], D-A80 23 | 125 | 15 D-A70, D-A80 23 15 | 105
D-F70, D-J79, D-J79W, D-F700W, D-F70, D-J79, D-J79W, D-F700W,
D-F79F, D-F7BA, D-F7NT 3 125 15 D-F79F, D-F7BA, D-F7NT i R
D-A70CH, D-A80H 22 | 125 | 15 D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 175 | 17.5
D-F701V, D-F700WV, D-F7BAV 23 | 125 | 15 D-F70V, D-F7OWYV, D-F7BAV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 175 16
D-F7LF 30 | 125 | 15 Note 2) 2 magnets for auto switches are installed in the
Note 2) 2 magnets for auto switches are equipped to the housing.

magnet mounting block.

680



Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

232 Basic Type: CXWM32-|Stroke/75 to 200

2x4x09.5 counterbore depth 5. 4

2 x 2 x 86.9 through Y74 2xM14x1.5
2x2x 011 counterbore depth 6.5\ ‘— . Q /" Adjustment bolt
SS - S 1
38 pioss ! / 245 75
(28+7 hole pitch) | 2 positions for set screws 2 x4 x M6 x 1.0 thread through
i for fixing adjustment bolts (M6) / From the opposite S|de
ks3

N
+ i e iy o
0 . P — =0 o) = -
8 evgeghocEs2 £ 8 8 (=04 o
\ = \ ] d
a4 ‘L \ E“; 1 \__ - - _é‘ |
Y s 1
L o i 1
= f%h\ o ) I
/‘ 4 positions / ‘ }
4 x M8 x 1.25 thread depth 15 / \zam’g‘"s depth 12 for set screws for fixing 2x2xRc 1/8_/ | 18]
shock absorbers (M5) Plug (R1/8) / 205
=28 L _ 2xRoig
| 087 / Cylinder port
| | I
I 8
. | [ | y [ 11/ T .
L0 o
oo + 1 e "%@ > T +
ﬂ-[% T i ! T el .
1 L 1
/1 o
[T
2xM6x1.0thread depth 7/ | | 10
2x2x M8 x 1.25 thread depth 15 _ 20 - y4 20
2x 2 x 087 '8 depth 12 38 P 4 x ©6.9 through
| | [4xa11 counterbore depth 7
\
L r
g o Rat
- | x j IR S
g ‘ =
|0 | L
2lols - i T R 2 o
17| | ; \
| \
} ‘ N S N E— CX2
‘ & | | g &
gl e e 8
2 x RB1411-X552 shock absorber |
(mm) cx
Model L P Q S SS z y74

CXWM32-75 90 70 243 77 146 | 223 | 263
CXWM32-100 | 115 95 293 | 102 | 171 273 | 313
CXWM32-125 | 140 | 120 | 343 | 127 | 196 | 323 | 363
CXWM32-150 | 165 | 145 | 393 | 152 | 221 373 | 413
CXWM32-175 | 190 | 170 | 443 | 177 | 246 | 423 | 463
CXWM32-200 | 215 | 195 | 493 | 202 | 271 473 | 513

Note) For 25 and 50 strokes, the shock absorber is mounted on a single D_D
side of the plate. For dimensions of 25 and 50 strokes, refer to page

682.
681




CXWM series

232 Basic Type: CXWM32-|Stroke/25, 50

2x2x06.9 through ZZ Max. 48 2 x RB1411 shock absorber
2x2x 011 counterbore depth 6.5\ [ Q ) M14x 1.5
‘ SS ) (Single housing installed)
2 positions for set screws F P+0.05 T 24.5 7.5
for fixing shock absorbers (M5) ‘ (28H7 hole pitch) 2 x4 x M6 x 1.0 thread through
| | | / From the opposite side
M14x15 2x4x09.5 counterbore depth 5.4
P @
Adjustment bolt ? Y
T T OL
I - ®
& $ Jo [t O
" ) [te -
HO)E 8 ® \-.- 2 YE—H S_g =b =] mI
ol ) 5 ¢
@ of N\:! Frie
o1 g
se — 1@ |
1 position for set screw 4 x M8 x 1.25 thread deEth 15 / 0817*8 0'5dep1h 12 2x2xRc1/8 15
for fixing adjustment bolt (M6) Plug (R 1/8) 205
G 2xRc1/8
08, 0 0° Cylinder port
0
=
iNi .
0 t .
92 + @:}"-‘—\ O—1 +
(] F -
e
2 x M6 x 1.0 thread depth 7 / 10
2x2x M8 x 1.25 thread depth 15 20 Z 20,
2x2x0817'8°" depth 12 F P _  4x06.9 through l
‘ 14 x 011 counterbore depth 7
—2 8
i _
5|
|8 S =
=23 o B = %
8 oo [§]
(mm)
Model F L P Q S Ss G Y4 zz
CXWM32-25 37 4 22 143 27 96 275 | 123 163
CXWM32-50 38 65 45 193 52 121 28 173 | 213

682




Slide Unit: Built-in Shock Absorber .
Slide Bearing Type CXWM Series

232 With End Lock: CXWM32-Stroke/75 to 200|R

gs.g_ _
\
|

2 x 2 x M8 x 1.25 thread depth 15

. Q T 2xm14x15
2x2 x 0817 *3%depth 12

justment bolt

015 depth 28.5 N '__ / 75, 5
(With an adjustment bolt | | /2 2 positions for set screws | 4xMex1. 0 thread through
/ M14 x1.5 x 20L to the plate) \ \ / forfixing adjuslmen\ bolts (MG)
S : )
I ‘
& I I 1t 4—1
1/ | |1 - L 5] ‘
i ) 2w A N
2 [ ———1—p8e & (%,‘9; 5 FO
10 b 0| | i o S 1
a 0 ~ o——@——t1 [
11’7*‘ \ 4 x ©6.9 through | \
1, 15\ 2xRe1/8 -85 _ \4 x 011 counterbore depth 7 15, |, | 2x2xRci1/8
. Piug (R 1/8) 2050 i \ Cylinder port
(Cylinder p__t)
2xRc 1/8
28 L /Plug (R 1/8)
*I { (Cylinder port)
| /
T ..
T T
o8ur 87| | ! @l
2 x RB1411-X552 shock absorber
End lock mechanism 20 26 2 X2 x ©6.9 through
\‘ I " 38 P00 _
\ | (8h7 hole pitch)
J— \ —
T }—_: 5 ———=
] e r
2] milﬂ 7
& =< e H%f
| -@ _mg | \
IR E— S,
b \
2xRc1/8 4xM8x1.25 thread depth 15r \ 4 positions for set screws
Plug (R 1/8) 40.015 | for fixing shock absorbers (M5)
(Cylinder port) 14.5 08w 0" depth 12 (mm)
™ | Model L P Q S Ss r4 zz
= T ., CXWM32-75R 90 70 243 77 146 223 263
" \ CXWM32-100R| 115 95 293 102 171 273 313
CXWM32-125R| 140 120 343 127 196 323 363
= CXWM32-150R| 165 145 393 152 221 373 413
CXWM32-175R| 190 170 443 177 246 423 463
CXWM32-200R| 215 195 493 202 271 473 513
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWM32-[Stroke|, CDBXWM32-[Stroke]R ~ CDPXWM32-[Stroke |, CDPXWM32-[Stroke|R
_Auto switch Hu Magnet mounting block Auto switch Hw
=% !
{' - 3] ote [ S - 3]
——— = —H—-——— =
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht Auto switch model Hw | Ht Hv cxs
D-A70], D-A80 23 [ 125 | 15 D-A70], D-A80 23 | 15 | 105
D-F70, D-J79,D-J79W, D-F70OW, | . | ., | o D-F70, D-J79, D-J79W, D-F700W, | . | . | |,
D-F79F, D-F7BA, D-F7NT ) D-F79F, D-F7BA, D-F7NT
D-A7CH, D-A80H 22 | 125 | 15 D-A7C1H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 175 D-A73C, D-A80C 23 | 175 | 175
D-F70V, D-F7O0WV, D-F7BAV | 23 | 125 | 15 D-F701V, D-F7UWV, D-F7BAV | 23 15 14
D-J79C 24 15 | 175 D-J79C 24 [ 175 | 16
D-F7LF 30 | 125 | 15 Note 2) For 25 and 50 stroke, the shock absorber is D-O
Note 2) For 25 and 50 stroke, the shock absorber is mounted on a single side of the plate. For
mounted on a single side of the plate. For dimensions of 25 and 50 strokes, refer to
dimensions of 25 and 50 strokes, refer to page 684. 'XD
page 684.

683



CXWM series

232 With End Lock: CXWM32-|Stroke/25, 50 R

Max. 19.5 gg_s zZ
2 x 2 x M8 x 1.25 thread depth 15 Q M14 x 1.5
0015 i I SS S /Adjustment bolt
2x2x08+70 " depth 12 |\ CF P 75 245
~ 1 position for set screw 4 x M6 x 1.0 thread through
M14x1.5 | | Torfixing adjus1mentm\ | From the opposite side
1 RB1411 g - il T 4x 9.5 counterbore depth 5.4
Shock absorber 8 T 1
3 1 1 I
1" / -1
e
| e Zlg 5
5 |O e e g
2 |
«f N © : | | 3
E ~ S - I
T | \_4 X 6.9 through i
11| 115 2xRc1/8 1 65 | 4 x 211 counterbore depth 7 15 2xRc1/8
Plug (R 1/8) 205 {Cylinder port
(Cylinder port)
2xRc 1/8
[Plug (R1/8)
T [ (Cylinder port)
/
Fof 1
ofQw —0
vwlm 5t 4
B8HTBO1S ﬁT 2
RB1411-X552 shock absorber
End lock mechanism 20 z /29 2x2x26.9 throug
F __P*005 ,/ /2 x 2 x 811 counterbore depth 6.5
\ (087 hole pitch) /
| ‘ / g
© /‘
{=y
. o an | e
8 o B +tH8
& ] |
L A ——
1 o & &1 1
-1 AN > &

f

4xM8 x1.25 thread depth 15/

\ 2 positions for set screws

40015

087'0” " depth 12\
14.5

\ for fixing shock absorbers (M5;

(mm)
Model F L P Q S |[sS | G z | zz
CXWM32-25R | 37 | 41 | 22 | 143 | 27 | 96 | 275 | 123 | 163
CXWM32-50R| 38 | 65 | 45 | 193 | 52 | 121 | 28 | 173 | 213

Housing mounting type with auto switch
CDBXWM32-25/50, CDBXWM32-25R/50R

Auto switch

Magnet mounting block

Hw

Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Hs Ht
D-A70J, D-A80 28 | 125 | 15
D-F70, D-J79, D-J79W, D-F700W,| o | .o | o
D-F79F, D-F7BA, D-F7NT i
D-A70H, D-A80H 2 | 125 | 15
D-A73C, D-A80C 23 15 [ 175
D-F701V, D-F7O0WV, D-F7BAV 23 | 125 | 15
D-J79C 24 15 175
D-F7LF 30 125 15

Note 2) For 25 stroke, 2 magnets for auto switches
are equipped to the magnet mounting block.

684

Plate mounting type with auto switch
CDPXWM32-25/50, CDPXWM32-25R/50R

Hw,
E[ 4

[a—F

Auto switch

J_ g ] 3 m’g
Note 1) The dimensions show D-A7 and D-A8. (mm)

Auto switch model Hw | Ht Hv
D-A70, D-A80 23 15 | 105
D-F70), D-J79, D-J79W, D-F700W,| 15 10
D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F70WV, D-F7BAV 23 15 14
D-J79C 24 | 175 [ 16

Note 2) For 25 stroke, 2 magnets for auto switches
are installed in the housing.



Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

CXWL series

210, 216, 220, 625, 32

How to Order

oxwL g

_|1

Port thread type
. M thread | 310 to 820
Nil
Rc 1/8
TN |NPT 1/8| 025,032
| TF G1/8

50|
|

_|1

50|

—J79w|| |—

Cylinder with auto switch !
Symbol | Specifications/Mounting

DB With auto switch/ l
Housing mounting Bearing type
DP With auto switch/ Ball bushing bearing

Plate mounting

Bore size/Stroke (mm)
210 | 25,50, 75, 100
216 | 25,50, 75, 100, 125, 150, 175, 200
220 | 25,50, 75,100, 125, 150, 175, 200
925 | 25,50, 75,100, 125, 150, 175, 200
232 | (25), 50, 75, 100, 125, 150, 175, 200

Note 1) For (25) stroke, the shock absorber is mounted
on a single side of the plate.

Note 2) For the strokes other than those indicated above,
refer to the stroke table on page 686.

Note 3) For 216, 820 and 025, strokes up to 275, and
for 032, strokes up to 225 are available as
Made-to-Order. (-XB11)

Made to Order
+ Refer to page 686 for the

Number of auto switches

Nil 2 pes.

S 1 pc.

n “n” pes.
Auto switch

‘ Nil ‘ Without auto switch (Built-in magnet) ‘

+ For the applicable auto switch model, refer
to the table below.

* Auto switches are shipped together, (but
not assembled).

End lock
‘ Nil ‘ None ‘
[ R | End lock |

Applicable Auto Switches/Refer to pages 1119 to 1245 for further information on auto switches.

Made to Order specifications.

A b= Wiring Load voltage Rail mounting Applicable cylinder size | Lead wire length (m)* Pre-wirded|  Applicable
i i ectrical | 5 : -
Type | Special function | EI9¢HS §| oum o AC | Ppendciar| Indine :gj:"‘”ngg ms\';‘(;g (?\‘-ﬁ) (E) é) ':"’\"‘)" connector | load
= 3-wire (NPN) F7NV | F79 ® 0 O - ) ’
£ ~ Grommet| | 3-wire (PNP) sv.12v F7PV | F7P D0 O |/Coit
o Dowire 12V F7BV | J79 16 o0 | @ @O - O _
5 Connector| J79C - 220 216 o 000 - Relay,
° N ncicat $ [3-wire (NPN) | 24V - |[FINWV| F79W | oo | 920 | @ [@[O] - O arutlPLC
§ e Y B - Teew] 33 | o [@T@[0[-T ©
= Grommet e 12y F7BWV| J79W ° ®/®O|-| O ~
g Water resisant (2l incicao) F7BAV***[F7BA*** - @O O
Wi dizgnosic ot (elor el 4-wire (NPN) 5V,12V - F79F [ B Jie] O IC circuit
” Seuire (NPN equivalent) - 5V - = A76H e 0 - - = IC circuit| —
< $ - - | 200v | A72 [A72H | 46 | °10 | @ [@] -] - -
£ Grommet) ™| 12V [ 100v | A73 [ AT3H| o20 | 16 (@ [@[-[-| - -
2 2| zwie |, [sv.r2VlitVoks| ABO | ASOH | 025 | OO0 @ [@[-[-| - licamulpet
E - connector 2| 12V = A73C = 032 | o [0 |00 e = =
b 2 5V,12V[24Vorless| ABOC - o 00 e - G
e @ | Soire (PN equivnf) | — 5V - E76A o0 - - - =
Grommet % 2-wire 24V 12V | 100V - E73A 210 = ® 0 |- - ~_|Relay,
2 5V, 12V[100V orless E80A o0 | - - IC circuit| PLC

s« \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m - Nil  (Example) F79W
3m- L
5m- Z  (Example) F79WZ
None N (Example) J79CW

+ Solid state auto switches marked with “(O” are produced upon receipt of order.
Example) F79WL i |t is impossible to mount solid state switches to the housing mounting 210.

« Since there are other applicable auto switches than listed, refer to page 703 for details.
« For details about auto switches with pre-wired connector, refer to pages 1192 and 1193.




CXWL series

Specifications

Type Non-lube
Built-in shock absorber Fluid Air
This is built-in shock absorber type in Proof pressure 1.5 MPa
which thg shock absorber is enclosed in Max. operating pressure 1.0 MPa
the housing. Min. op CXWL10/16 0.15 MPa
Pramat'?a"y reduced pressure CXWL20/25/32 0.10 MPa
InSta"at!o.n Iabo.r . . Ambient & fluid temperature —10 to 60°C (No freezing)
The machining precision required for .
positioning during the installation of the Piston speed (Non-lube) 30 to 500 mm/s
cylinder has been reduced through the Cushion Shock absorber
adoption of a special pin hole machining Stroke adjustable range Standard stroke: 2 mm
process, thus decreasing the amount of Accessory (Option) Straight knock pin (2 pcs.), Adjusting bolt* (-X138)

labor involved in adjustment.
High-precision ball bushin . ) . . .
Theg bg,ings made of ball busﬁngs Maximum Load Weight/Non-rotating Accuracy/Maximum Holding Force
decrease the rise in starting pressure that Model CXWL10 | CXWL16 | CXWL20 | CXWL25 | CXWL32
could be caused by a load imbalance. Max. movable weight () 1kg 4 kg 5kg 7 kg 10 kg
This also enables smooth operation by
ensuring stable travel resistance.

*“-X138" has a stroke adjustable range of —12.5 mm on one side.

Non-rotating accuracy (@

! h Deflection of a p\ston) +0.09° +0.03° +0.03° +0.02° +0.01°
Provided with an end lock EDTEET,
mechanism Max. holding force
An end lock is also available, which (End lock model ) 39.2N 981N 147N 2452N 3923N
maintains the cylinder's original position
even if the air supply is interrupted. Note 1) Place the center of gravity of the load and center of the slide unit close during operation. If they
~ are placed far apart from each other, please consult with SMC.
&/ D Note 2) The factors are obtained under the conditions of a 25 strokes plate is pushed out.
Shock Absorber Specifications
RB1411
Shock absorber () RB0805-X552 RB1006-X552 RB1411-X552
Applicable slide unit CXWL10/16-00 | CXWL20/25-00 CXWL32-00
energy absorption (J) 0.98 3.92 14.7
Stroke absorption (mm) 5 6 11
Max. collision speed (m/sec) 0.05t0 5
Max. operating frequency (cycle/min) @ 80 70 45
Max. allowable thrust (N) 147 353 667
Ambient temperature range (°C) —10to 80
ade 10 . . . | Extended 1.96 4.22 6.86
Made to Order: Individual Specifications | SPringforee W)= 2 =2 0 383 618 1530
(For details, refer to pages 706 to 708.)
Weight (g) 15 25 65
Symbol Specifications
X138 | Adjustable strok Note 1) “-X552" is an exclusive shock absorber installed in the housing, and is the screw not attached
justable stroke specification of the outer part of the outer tube. “CXWL32-25" is mounted on a single side of
-X146 | Hollow piston rod the plate and of the screw attached specification.
X168 | Helical insert thread Note 2) It denotes the values at the maximum energy absorption per one cycle. Therefore, the

operating frequency can be increased according to the energy absorption.

-X169 | 2 built-in magnets = The shock absorber service life is different from that of the cylinder depending on the operating

Made to Order Specifications conditions. Refer to the RB series Specific Product Precautions for the replacement period.
Click here for details __ Theoretical Output )
Symbol Specifications -
-XB11 | Long stroke type Model Rod size|Piston area| Operating pressure (MPa)
-XB13 | Low speed cylinder (5 to 50 mm/s) () | i) | 02 || @8 |06 || @5 L 06 | 07 |LeE | 00
-XC22 | Fluororubber seal CXWL10-00 6 101 20 30 40 51 61 71 81 91
CXWL16-00 10 245 49 74 98 123 | 147 | 172 | 196 | 221
CXWL20-00 12 402 80 121 | 161 | 201 | 241 | 281 | 322 | 362
CXWL25-00 14 597 119 | 179 | 239 | 299 | 358 | 418 | 478 | 537
CXWL32-00 20 980 196 | 294 | 392 | 490 | 588 | 686 | 784 | 882
Moisture P Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm2)
Control Tube
IDK Series ~ Standard Stroke
When operating an actuatgr with a small diameter Model 25 50 75 Sta:d:(;d S"O:ez;mm) 150 175 200
and a short stroke at a high frequency, the dew
condensation (water droplet) may occur inside the CXwL10-00 ° o (] [ ] _ — _ -
piping depending on the conditions. CXWL16-00 [ J [ [ ] [ J [ [ ] [ ] [ ]
Simply connecting the moisture control tube to the CXWL20-0101 [ ] [ ] [ ] (] [ ] [ ] [ [
actu.atoerilldpl;e\./lent c:ewt c;);d?gf(ation. frorn tol:: CXWL25-00 Y o Y ) Y Y ° )
o o e vercstesnie | om0 e e | e e le | e | e

Note) The strokes marked with “(x)” has an absorber of single side plate mounting type.

® 686


http://www.smcworld.com/products/en/s.do?ca_id=495#se_1351
http://www.smcworld.com/products/en/custom.do

Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

Weight (kg)
Stroke (mm)
Model
25 50 75 100 125 150 175 200
CXWL10 0.33 0.40 0.46 0.53 - - - -
CXWL16 0.72 0.85 0.98 1.11 1.23 1.36 1.49 1.62
CXWL20 1.0 1.18 1.35 1.53 1.71 1.89 2.06 2.24
CXWL25 1.32 1.54 1.76 1.97 2.19 2.43 2.63 2.86
CXWL32 2.56 2.96 3.37 3.75 4.19 456 4.98 5.39
Additional Weight with End Lock (CXWLO-R) (kg)
Applicable model Additional weight
CXWL10 0.08
CXWL16 0.14
CXWL20 0.15
CXWL25 0.20
CXWL32 0.43

Operating Direction with Different Pressure Ports

Accessory
Straight Knock Pin (Option)

Operating direction of housing when the

plate is fixed

[ A === =[] «a

_ rﬁ&,,f, E,
B i i | ‘:

a ﬁ Standard side of housing
(Mounting side)
I e !
/T 7Y

Operating direction of the housing

With end lock (CXWL-OIR)

Operating direction of housing when the g§
plate is fixed So
B ++
o
L b ©
“ — ! ; ] — E \ ]
B = m==gl - j
Standard side of housing L

(Mounting side)
o ‘ (mm)
= Model L [ oD Model”

‘ Pressure port

[a[B]c[DETF]

‘ Operating direction

right Lett et igh Lettjight

= There are 9 possible reciprocating piping methods.

i
A\N NN
CXWL10 10 4 MS4-10
g

Operating direction of the housing CXWL16 10 5 MS5-10
CXWL20 15 6 MS6-15
‘ Pressure port ‘A‘B‘C‘D‘E‘F‘G‘H‘ CXWL25 15 6 MS6-15
Operating direction _[figiLef]Lef] g g LefLefit] CXWL32 20 8 MS8-20

+ There are 16 possible reciprocating piping methods. * Manufactured by Misumi Trading Ltd.

Deflection of Piston Rod by Center Loading (Reference)

When center loading is added to the center

When center loading is added to the center

of the housing of the plate
Deflection width
(mm)
Stroke Stroke
100 | 200 50 |100(150|200
Model Load (N) Model Load (N)

CXWL10 9.81 0.07 - CXWL10 2.94 006(030| - | —
CXWL16 39.2 0.05 0.20 CXWL16 4.90 0.03]/0.10(0.25|0.45
CXWL20 49 0.04 | 0.15 CXWL20 7.84 0.030.09/0.18|0.35
CXWL25 68.6 0.03 0.10 CXWL25 9.81 0.03/0.09(0.16|0.25
CXWL32 98.1 0.02 0.07 CXWL32 29.42 0.02|/0.05(0.10|0.15

Note) The values denote the total width of the
deflections in the upward/downward
direction.

687

Q|| O (2]
x| >
v || < || - N



CXWL series

Construction: 210, 16, 025

CXWL10

With end lock

CXWL25

@ @ @@@{i@;}@@@@/@ BB ®

With end lock

688

N
3



Construction: 210, 216, 225

Component Parts

Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

Component Parts: With End Lock

CXWL series

No. Description Material Note No. Description Material Note
1 |Rod cover Aluminum alloy Anodized 27 |Locking body Aluminum alloy Hard anodized
2 |Rod cover A Aluminum alloy Anodized 28 |Lock finger Alloy tool steel Nickel plated after quenched
3 |Rod cover B Aluminum alloy Anodized 29 |Lock piston Carbon tool steel | Electroless nickel plated after quenched
4 |Housing Aluminum alloy Hard anodized 30 |Rod cover Aluminum alloy
5 |[Piston Aluminum alloy Chromated 31 |Return spring Spring steel Zinc chromated
6 |Piston rod High carbonate chrome bearing steel ppe | Quenched, Hard chrome plated 32 |Adjusting bolt Chromium steel Nickel plated
7 |Plate Aluminum alloy Hard anodized 33 | Body gasket NBR
8 |Lock nut Carbon steel Nickel plated 34 |Rod seal NBR
9 | Adjusting bolt Chromium steel Nickel plated 35 |Piston seal NBR
10 | Set screw (For fixing rods) Chromium steel Nickel plated 36 | Steel ball High carbon chrome bearing steel
11 | Set screw (For fixing shock absorbers) Stainless steel 37 | Steel ball High carbon chrome bearing steel
12 |Retaining ring Carbon tool steel Phosphate coated 38 | O-ring NBR
13 (Plug Brass Nickel plated 39 | Round type Rretainingring | Carbon tool steel Phosphate coated
14 | Magnet — 5 40 |Lock nut Carbon steel Nickel plated
15 |Set screw for seal Chromium steel Nickel plated 41 |Plug Chromium steel Nickel plated
16 |Spring Stainless steel
17 |Type CR retaining ring| Carbon tool steel Replacement Parts: Seal Kit
18 | Round type Rretainingring |  Carbon tool steel Phosphate coated End Lock
19 |Shock absorber — (RB0805-X552 or RB1006-X552) Model Kit no. Contents
20 |Socket Brass Electroless nickel plated CXWL10 CXWL10R-PS
21 |Gasket NBR CXWL16 CXWL16R-PS Absel of @3, 34, @5 and 33 listed
22 |Ball bushing — CXWL25 CXWLzsRPS |
23 R_c’d seal NBR * Seal kit includes 33, 34, 39 and 38. Order the seal kit with the part
24 |Piston seal NBR number for each model.
25 |Piston gasket NBR = Since the seal kit does not include a grease pack, order it separately.
26 |Cylinder tube gasket NBR Grease pack part no.: GR-S-010 (10 g)

Replacement Parts: Seal Kit

Cylinder Body

Model Kit no. Contents
CXWL10 OXWL10-PS A set of @3, @ and 26 listed
CXWL16 CXWL16-PS above T -
CXWL25 CXWL25-PS

* Seal kit includes @),
for each model.
5 is not replaceable.

29 and @. Order the seal kit with the part number

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

689

(]
Ex
N

[z RIE=RIKz]
x| >
|| < |-



CXWL series

Construction: 20, 32

CXWL20 /
o ¢
/
060/
s
of
o
A
¥ 4240 a0
With end lock
CXWL32
(ORONOIGXO]

L® @
With end lock
Component Parts

No. Description Material Note
1 | Rod cover Aluminum alloy Anodized
2 | Rod cover A Aluminum alloy Anodized
3 | Rod cover B Aluminum alloy Anodized .
4 | Housing Aluminum alloy Hard anodized Component Parts: With End Lock
5 | Piston Aluminum alloy Chromated No. Description Material Note
6 | Piston rod High carbon chrome bearing steel — 1 Locking body Aluminum alloy Hard anodized
7 | Plate Aluminum alloy Hard anodized 2 | Lock finger Alloy tool steel Nickel plating after quenched
8 | Adj bolt Chromium steel Nickel plated 3 | Lock piston Tool steel Electroless nickel plated after quenched
9 | Hex. socket head set screw Chromium steel Nickel plated 4 | Rod cover Aluminum bearing alloy
10 | Hex. socket head set screw Chromium steel Nickel plated 5 | Steel ball High carbon chrome bearing steel
M| F ring Tool steel Phosphate coated 6 | Steel ball High carbon chrome bearing steel
12 | Magnet — 05 7 | Round type R retaining ring Carbon tool steel Phosphate coated
13 | Spring Stainless steel 8 | Return spring Spring steel Zinc chromated
14 | Type CR ining ring Carbon tool steel 9 | Plug Chromium steel Nickel plated
15 | Round type R retaining ring | Carbon tool steel Phosphate coated Jle25, (50) to 200 ST| fiexagen socket [ Chromium steel Nickel plated
16 | Ball i — (25) ST Hexagon nut Carbon steel Nickel plated
17 | Shock absorber — RB1006-X552 or RB1411-X552 1N10‘él 25, (50) to 200 ST|Adj boltf  Chromium steel Nickel plated
18 | Plug Chromium steel Nickel plated (25) ST |Shock absorber| — RB1411
19 | Hex. socket head set screw Stainless steel 12 | Body gasket NBR
21 | Piston seal NBR 13 | Rod seal NBR
22 | Rod seal NBR 14 | Piston seal NBR
23 | Piston gasket NBR 15 | O-ring NBR
24 | Cylinder tube gasket NBR Note) Figures in parentheses denote the case of CXWM32.
Replacement Parts: Seal Kit Replacement Parts: Seal Kit
Cylinder Body End Lock
Model Kit no. Contents Model Kit no. Contents
CXWL20 CXWL20-PS A set of 2), @ and @ listed CXwWL20 CXWL20R-PS A set of (12, (3, 149 and (5 listed
CXWL32 CXWL32-PS above CXwWL32 CXWL32R-PS above

* Seal kit includes 20, @ and @4. Order the seal kit with the part number
for each model.

* @ is not replaceable.

* Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)

690

= Seal kit includes (2, (3, 14 and 5. Order the seal kit with the part number
for each model.

= Since the seal kit does not include a grease pack, order it separately.
Grease pack part no.: GR-S-010 (10 g)



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

210 Basic Type: CXWL10-/Stroke/25 to 100

) Max. ZZ
) Q
2x2x03.3 through ss s
2 x2x06.5 counterbore depth 3.2 r F P 005 -
\ (047 hole pitch) | 5
8
2xM8x1.0 ‘ \ g |
Adijusting bolt \ 2
\ 5
<+ ©
Y r - ®
+ e +
of f] L+ —ps— =t b4 g
1 . =
B — — &
+ +
¢ .
¥ == — 1
0417°3°"2 depth 6 4 x M4 x 0.7 thread depth 6 Socket 3 6
1
4 positions for set screws for fixing shock absorbers (M4) 2xM5x0.8
2 x M4 x 0.7 socket connection port (2 positions of hexagon socket head plug) Cylinder port
oz TO”
© ©
. =
o @ ﬁ R LI %ig% _h:i
(]
©
28 | L | 2 x M5 x 0.8 plug (M-5P)
" - (Housing side port)
Max. 8 10 z 10 95
2 x2 x 04r7°8°" depth 5 F P 4 x 3.2 through
‘[ 4 x 06.5 counterbore depth 3.3
5
- H | e ™ o
T i
| T Lid @ 4 4
e ‘ e
o T | B
m‘ S 5l —E:} ' 1 & *
|
r e —— &
sl ——&r 4
t T ]
Q_Q)Q/If x 0.7 thread depth 8 2 x RB0805-X552
Shock absorber cxz
(mm)
Model F L P Q S SS z zz
CXWL10-25 35.5 45 30 138 27 101 128 165.5
CXWL10-50 38 70 50 188 52 126 178 | 2155

CXWL10-75 40.5 95 70 238 77 151 228 | 265.5
CXWL10-100 43 120 90 288 | 102 | 176 | 278 |3155

691



CXWL series

210 With End Lock: CXWL10-|Stroke/25 to 100/R

2 x 2 x M4 x 0.7 thread depth 8

Max. ZZ

S
2% 2 x 047 §°7 depth 5
2x2xpdw 3 deps 2 x RB0B05-X552
2xM8x1.0 _ / Shock absorber
Adjustment bolt /
N —— 18 [
o8 —1e re
e @ @ ! ! F !
i - (=1}
S I cul dlo
1 o|F Hi=
5 &
2 I i
2 ®
f hd
3 na -
ol 40 \4 x ©3.2 through Socket
alg 2 x M5 x 0.8 hexagon socket head plug 4x065 depth33  2xM5x 08
Cylinder port

(Cylinder port)

2 x M5 x 0.8 plug (M-5P)

Max.9 14.5 (Cylinder port) Max. 8
1 |
2l © =
e Qo Qome &
L)
st 9
10 9.5
End lock mechanism 22 .10 udm'g'mdemh 6
—— = leny i
f i é’ ¢l
o i 5 . >
e 3 ﬁ__ & — Lol
=3 @ S—8r——1
. e,
< ¢ ®

4xM4x0.7 thread depth 6\ 4 positions for set screws

2 x 2 x ©3.3 through

2 x 2 x 06.5 counterbore depth 3.2

2 x M5 x 0.8 hexagon socket head plug
(Cylinder port)

105 5

~

Fi®e

Housing mounting type with auto switch

CDBXWL10-[Stroke], CDBXWL10-[Stroke| R

Auto switch 222 Magnet mounting block
\ r/”
\ o )
[ T 3 |
- s | — =
; [% R i
£ ! =Y
5 i = ¥
Bl e ®

Note 1) The figure above is for D-E7CJA/E80A.
Note 2) For only 25 stroke, 2 magnets for auto switches are equipped
with the magnet mounting block.

692

for fixing shock absorbers (M4)

(mm)
Model zz
CXWL10-25R 188.5
CXWL10-50R 238.5
CXWL10-75R 288.5
CXWL10-100R 338.5

Plate mounting type with auto switch

CDPXWL10-[Stroke|, CDPXWL10-[Stroke] R

Auto switch _Hw
A
I [ 1 | .
< & L 12
il J— H
€ —y
| 53 e ® B
Pl o =
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw Ht Hv
D-A70], D-A80 23 15 10.5
D-F70, D-J79, D-J79W, D-F700W, o 5 W0
D-F79F, D-F7BA, D-F7TNT
D-A7CH, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F700WV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) For only 25 stroke, 2 magnets for auto switches are

installed in the housing.



Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

216 Basic Type: CXWL16-Stroke/25 to 200

CXWL series

Max. ZZ
Q i 2 x 2 x 94.3 through
‘ ss T s | 2 x 2 x 08 counterbore depth 4.5
| F poos |
(o5+7 hole pitch)
B o © E
s - = ;
2xM8x1.0 g 7 1 S
Adjustment bolt ”@‘ 3 l-ﬁ ]
I = S -
Wy ok h.4e : e | ©
o @
— B -
: | ¢ >
&
/o0
0517*8°" depth 6 4 positions for set screws for fixing shock absorbers (M4)
4 x M5 x 0.8 thread depth 10 55 7.5
— 2x2xM5x0.8
(Hexagon socket head plug)
41 L
| 0517872 _2xM5x0.8
~ ‘Ql Cylinder port
I
— L]
— <
g3 A S
Y
Max.6 12 z 12 2x2xM5x0.8
F P 4 x 94.3 through Thread depth 10
| 4 x 08 counterbore depth 4.5
|
‘ i N R
H
. Ll By
\ ]
i _J\_' I — (l\
= T
T \
L \
2x RBOBO5-X552 | 2x2x 0518 depth 6
Shock absorber
(mm) |CX2
Model F L P Q S SS 4 zz
CXWL16-25 345 | 39 52 160 | 27 | 121 | 148 | 184  [Wdll]
CXWL16-50 47 64 52 210 52 146 | 198 | 234
CXWL16-75 53 89 65 | 260 | 77 | 171 | 248 | 284 |CXT
CXWL16-100 53 114 90 310 102 196 298 334
CXWL16-125 | 655 | 139 | 90 | 360 | 127 | 221 | 348 | 384 |CXSJ
CXWL16-150 78 164 90 410 152 246 398 434
CXWL16-175 | 905 | 189 | 90 | 460 | 177 | 271 | 448 | 484 |CXS
CXWL16-200 103 214 920 510 202 296 498 534

693



CXWL series

216 With End Lock: CXWL16-Stroke/25 to 200 R

2 x2x M5 x 0.8 thread depth 10 Max. ZZ
+0.012

2x2x@5n7°0" “depth 6

e L 2 x RB0805-X552 2xM5x0.8
2 X M5 x 1.0 Shock absorber Cylinder port
Adjustment bolt o
° e
¥ e B [
B — —  — b
= 5 &
B e oS E
= —— 8 ‘ &
Y o 4
e dy ® Lo
4 x 94.3 through B
| 0.
2xM5x0.8 Q'Li— 4 x 8 counterbore depth 4.5 75 55
Hexagon socket head plug (Cylinder port)
Max. 6
Max. 6 41 2 x M5 x 0.8 plug (M-5P)
™ (Cylinder port)
‘ P
[leliodioe] N
e
L
QEH;gMZ
: 40012 12  2x2x04.3 through
End lock mechanism 23 12 057 0 " depth 6 2 x 2 x 08 counterbore depth 4.5
1 ! Leny o=y
‘ @ & 7
| ,F v ;‘ / T (mm
A o)) & e o
8 8 Q I S ) S
N — L T Model [ 2z
(i \_ e TCXWL16-25R | 207
S _dg o L o CXWL16-50R | 257
4 positions for set screws CXWL16-75R 307
2 x M5 x 0.8 hexagon socket head plug \m?ﬁxi.lq shock absorbers (M4) e
Cylinder por) 96 p—- _CXWL16-100R | 357
(Cylinder p - 4 X M5 x 0.8 thread depth 10
— CXWL16-125R | 407
o NE _CXWL16-150R | 457
o @ CXWL16-175R | 507
CXWL16-200R | 557
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWL16-[Stroke|, CDBXWL16-[Stroke] R CDPXWL16-[Stroke|, CDPXWL16-[Stroke| R
Auto switch Hw Magnet mounting block Auto switch Hw Ht
[ #| v - |
I / | |
rs — T
e ° [ 0l )
i Ad e b=
. By
=
L —® & | 2]
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs | Ht Auto switch model Hw | Ht | Hv
D-A70], D-A80 23 12.5 15 D-A70J, D-A80 23 15 10.5
D-F70, D-J79, D-J79W, D-F700W, D-F701, D-J79, D-J79W, D-F700W,
D-F79F, D-F7BA, D-F7NT = B3 B D-F79F, D-F7BA, D-F7NT & k& i
D-A70H, D-A80H 22 12.5 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 175 D-A73C, D-A80C 23 175 | 17.5
D-F701V, D-F7O0WV, D-F7BAV 23 12.5 15 D-F70V, D-F7O0WV, D-F7BAV 23 15 14
D-J79C 24 15 17.5 D-J79C 24 17.5 16
D-F7LF 30 | 125 | 15 Note 2) For only 25 stroke, 2 magnets for auto switches are
Note 2) For only 25 stroke, 2 magnets for auto switches installed in the housing.

are equipped with the magnet mounting block.

694



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

220 Basic Type: CXWL20-Stroke/25 to 200

2 x 2 x ©5.2 through

2 x 2 x 9.5 counterbore deplhﬁ 77
o Q ) 2 4x M5 x 0.8 thread through
ss < From the opposite side
T = 7 — 2x4x07.5 counterbore depth 4.5
F p+005 3 2xM10x 1.0 LA
(@617 hole pitch) % Adjustment bolt
& ]
I — — 2 positions for set screws
for fixing adjusting bolts (M5)
, e O
o T 12 oy 4
ofoe IR =
—— ® #7
4 positions
4 x M6 x 1.0 thread depth 9 067 "3°" thread depth 8 for set screws for 2x2xM5x0.8 1
fixing shock absorbers  (Hexagon socketheadplug) | |
155
e - ,424._7L _1 2xM5x0.8
06 H7‘° o2 Cylinder port
=3
wf [l .
=3
Y P — - E—— ;
ol o Tl —
&R } -
[ I
2x M4_3<_0.7 threaq de_pth 5 __]_ o
~
o
2x2x 06173 depth 8
2 x2x M6 x 1.0 thread depth 12
14 z 4
N — o 2
P
- 4 x 5.5 through
4x09.5 counterbore depth 5.5
- o —
— [ e '5 -
g %
ol afl S ¢ - & ¢
~| ©f 4 | | ©
2 R
@) -
€
2 x RB1006-X552
Shock absorber
Model F L P Q S SS z

CXWL20-25 | 355 | 39 52 164 27 123 | 150
CXWL20-50 48 64 52 214 52 148 | 200
CXWL20-75 | 56.5 | 89 60 264 7 173 | 250
CXWL20-100| 54 114 90 314 | 102 | 198 | 300
CXWL20-125| 66.5 | 139 90 364 | 127 | 223 | 350
CXWL20-150| 79 164 90 414 152 248 400
CXWL20-175| 91.5 | 189 90 464 | 177 | 273 | 450
CXWL20-200| 104 | 214 90 514 | 202 | 298 | 500

695



CXWL series

220 With End Lock: CXWL20-|Stroke/25 to 200 R

4 x M5 x 0.8 thread through

2z From opposite side
Q 4 x @7.5 counterbore depth 4.5
Ss s
F P 2x2xM6x1.0
011 depth 21 o Thread deoth 15 \55. 17
(M0 X 1.0x 14 L adjusting / P
bolt on the plate) 2xM10x1.0
|| / Adjustment bolt 2 positions for set screws for
?7 - — 7 fixing adjustment bolts (M5)
¢ | s NI Lrson—1
3 & @) 28
T8 || ol T
= ¢
@) | 3.
T ! o 002
w — 2x2x06r0  depth8 |11 2xM5x0.8
o 1 ! % /4 x 05.5 through a7 Cylinder port
6] 114] 4 x©9.5 counterbore depth 5.5 155
2 x M5 x 0.8 hexagon socket head plug a2 L
(Cylinder port) 0
1 £
gielelel | e ——
X .l ':
Tt a3
2xM5x0.8 +Qo2 2 x 2 x 5.2 th h
Hexagon socket head plug .| 26w '8 X 2 x 05.2 throug
2 x 2 x09.5 counterbore depth 5
End lock mechanism 21 14 z
F P+0.05 4 x M6 x 1.0 thread depth 9
(0647 hole pitch) E
1]
'% T - )
2BR|E 0 - g AR
! $ J D / \f, ] T
4 positions T
for set screws for &1 /o6, ihread depth 8 | 2 x RB1006-X552
fixing shock absorbers O —
o Shock absorber
85 6 g (mm)
Y Model F L P Q S |SsS| Zz | zz
" r © CXWL20-25R 355 | 39 52 164 27 123 | 150 | 199
— I CXWL20-50R 48 | 64 | 52 | 214 | 52 | 148 | 200 | 249
CXWL20-75R 56.5 | 89 60 | 264 77 173 | 250 | 299
CXWL20-100R | 54 | 114 | 90 | 314 | 102 | 198 | 300 | 349
2 x 2 x M5 x 0.8 hexagon socket head plug CXWL20-125R | 66.5 | 139 | 90 | 364 | 127 | 223 | 350 | 399
(Cylinder port) CXWL20-150R 79 164 90 414 | 152 | 248 | 400 | 449
CXWL20-175R | 91.5 | 189 | 90 | 464 | 177 | 273 | 450 | 499
CXWL20-200R 104 | 214 | 90 | 514 | 202 | 298 | 500 | 549

Housing mounting type with auto switch

CDBXWL20-[Stroke|, CDBXWL20-[Stroke| R

Plate mounting type with auto switch

CDPXWL20-[Stroke|, CDPXWL20-[Stroke|R

Auto switch Hw Magnet mounting block Auto switch Hw - i
= C H
= % % N = 4] #
=" +—-—H O
L I I P = I 1 b -,—j—
i ] — 1 % Bt *
= b = hd
== b= eI —
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht Auto switch model Hw | Ht | Hv
D-A70, D-A80 23 | 125 15 D-A70, D-A80 23 15 10.5
D-F70, D-J79, D-J79W, D-F700W, 23 | 125 15 D-F70], D-J79, D-J79W, D-F700W, 23 15 10
D-F79F, D-F7BA, D-F7NT ) D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 | 125 15 D-A700H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 | 17.5 D-A73C, D-A80C 23 [ 175 [ 175
D-F70V, D-F700WV, D-F7BAV 23 | 125 15 D-F70V, D-F700WV, D-F7BAV 23 15 14
D-J79C 24 15 | 175 D-J79C 24 | 175 | 16
D-7LF 30 | 125 | 15 Note 2) For 25 stroke, 2 magnets for auto switches are

696

Note 2) For 25 stroke, 2 magnets for

equipped to the magnet mounting block.

auto switches are

installed in the housing.



Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

25 Basic Type: CXWL25-|Stroke/25 to 200

CXWL series

2 x 2 x 05.2 through Max. ZZ .
2x2x09.5 counterbore depth 5 Q
[ Ss S
| F p+00s )
| ’35_ (0617 hole pitch) |
| T <+
i - —€ s
5 T —
L{f‘@— 8 — @_ :
- . E |
~ i’ oo N ,@,{; w
@ € T © @
°f @ 2@ i -
\ =
=1 —
SN i =a=s L
. S
s o3 @
I -
40,012 4 positions for set screws 2x2xRc1/8 L]_o—
4 x M6 x 1.0 thread depth 12 @617 0 “depth 8 e
- for fixing shock absorbers (M5) Plug (R 1/8) 18
43.5 L
o7 82 2xRc1/8
| Cylinder port
o o
) e Ll ——
38 E_ ‘ © o
L
2x2x M6 x 1.0 thread depth 12 16 z 16 Max. 6
2x2 X,”G“7+8 "2 depth 8 F P 4 x 5.5 through
4 x 09.5 counterbore depth 5.5
& —o—] ]
B 2xM10x1.0
T Adjustment bolt
]
3 5% E* ! ! S .
3 ‘ g 6
2 x RB1006-X5
Shock absorber
(mm)
Model F L P Q S Ss r4 zz
CXWL25-25 31.5 4 65 171 27 128 155 199
CXWL25-50 31.5 66 90 221 52 153 205 249
CXWL25-75 56.5 91 65 271 77 178 255 299
CXWL25-100 56.5 | 116 90 321 102 203 305 349
CXWL25-125 69 141 90 371 127 228 355 399
CXWL25-150 81.5 | 166 90 421 152 253 405 | 449
CXWL25-175 94 191 90 471 177 278 455 | 499
CXWL25-200 | 106.5 | 216 90 521 202 303 505 549

697

I 2 I3
AR = B
2= = IS



CXWL series

225 With End Lock: CXWL25-|Stroke/25 to 200/R

2 x 2 x M6 x 1.0 thread depth 12

Max. 2Z .

2 x 2 x @6H7 *§9"2depth 8
2xM10x1.0
Adjustment bolt

w__ 3 [&]
°l 1§
1= hll ¥
ro 6 ~o g
3 o= 55
el — g l'
Y w0 $ @ ©
2xRc1/8 51 4 x 85.5 through 2xRc1/8
M 4x09.5 counterbore depth 5.5~ Cylinder port
(Cylinder port) 2xRc1/8
Max. 6 435 Plug (R1/8) Max. 6
(Cylinder port)
T -
3, oo o B
=<t
| | o5
o012 16 2 x 2 x 5.2 through
’ 0617'0" - depth 8 2x 2 x 09.5 counterbore depth 5
End lock mechanism 23 : 8 ., RB1006-X552 : xex ul p
T T Shock absorber
i LieT o 7
8 T ]
| g It
3 35 vo8 s e —
l K = A Model
5 S R | kel |
‘ peEs CXWL25-25R
O o[ % CXWL25-50R
4x M6 x 1.0 thread depth 12\ 4 positions for set screws CXWL25-75R
2xRc1/8 135 for fixing shock absorbers (M5) CXWL25-100R
ﬂ“g,(&“/sl T CXWL25-125R
(Cylinder port) CXWL25-150R
+ |2t Aol |
59; @ + CXWL25-175R
lD_T CXWL25-200R
@

Housing mounting type with auto switch

CDBXWL25-[Stroke], CDBXWL25-Stroke| R

Auto switch

Magnet mounting block
_—2gnet mounting oo

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht
D-A70J, D-A80 23 12.5 15
D-F70J, D-J79, D-J79W, D-F700W,
D-F79F, D-F7BA, D-FZNT & | s || i
D-A70H, D-A80H 22 12.5 15
D-A73C, D-A80C 23 15 17.5
D-F701V, D-F7CJWV, D-F7BAV 23 12.5 15
D-J79C 24 15 17.5
D-F7LF 30 12,5 15

Note 2) For only 25 stroke, 2 magnets for auto switches are
equipped to the magnet mounting block.

698

Plate mounting type with auto switch

CDPXWL25-[Stroke|, CDPXWL25-[Stroke|R

Auto switch ’&v

n_
e R

3
5o

[

Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht | Hv
D-A70, D-A80 23 15 | 105

D-F700J, D-J79, D-J79W, D-F700W,

D-F79F, D-F7BA, D-FINT 28 | 15 | 10

D-A7C0H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F700WV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) For only 25 stroke, 2 magnets for auto switches are
built into the housing.

mm,
zz
222
272
322
372
422
472
522
572




Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

232 Basic Type: CXWL32-Stroke/50 to 200

2 x 2 x 26.9 through 7z 2xM14x1.5
2x2x011 counterbore depth 65 | Q Adjustment bolt
\l | Ss S |
T p+00s ‘ 245 75
‘ | (o847 hole pitch) ‘ 2 positions for set screws 2x4 x Mg x 1.0 thread through
‘ | ! for fixing adjustment bolts (M6) / From the opposite side
. - 2x4x09.5 counterbore depth 5.4
= &
: 5] &
@ i o, T9Y @ 3
[T ‘ S ]| "uario ’ te] r A 4
& e —se0--+ =92 £ 8 85 =04 =
T T e e
| @& _jé_ % ! X @ i
T E3 T
| " N \ [y
ol pt—ss ES 1
\ \
\ \
4 x M8 x 1.25 thread depth 15 / \ 08173 depth 12 \ 4 positions for set screws 2x2xRc1/8/ ‘ 1
for fixing shock absorbers (M5) Plug (R 1/8) 20.5
30 L 2xRc1/8
08y,50°, | [Cylinder port
1 / !
i / (=]
I R T
! g S &
Qg M g geemmmr R
&l 7 ]
1 | 1]
o
2 x M6 x 1.0 thread diﬂh]j 110
2x2xMBx 1.25 thread depth 15 20 oz .20,
2 x 2 x 081739 depth 12 \ 4 4 x 96.9 through
£XcX0eH7 0 GePR 1) X055 fhre
A | [4x 011 counterbore depth 7
i % fg«
)
G- o
$ | I -
\ , [
2 = |
@ QiF & | | . o
238 o - 86—
=23 i : T =]
: ' e
of oo - [Q
\
2 x RB1411-X552 shock absorber cxz
(mm)
Model L P Q S SS 4 zz
CXWL32-50 102 80 234 52 162 214 254
CXWL32-75 127 105 284 77 187 264 304

CXWL32-100 152 130 | 334 102 | 212 314 | 354
CXWL32-125 177 | 155 | 384 | 127 | 237 | 364 | 404
CXWL32-150 202 | 180 | 434 | 152 | 262 | 414 | 454
CXWL32-175 227 | 205 | 484 | 177 | 287 | 464 | 504
CXWL32-200 252 | 230 | 534 | 202 | 312 | 514 | 554

699



CXWL series

232 Basic Type: CXWL32-[25 stroke

2x2x06.9 through 204 - Max. 48~ Shock absorbers
2 x 2 x 011 counterbore depth 6. 5l 184 , RB1411
\ T 137 27 _ | M14x 1.5
2 positions for set screws | 4 55005 T | (Single housing installed) 24.5. 7.5
for fixing shock absorbers (M5)\, |\, (287 hole pitch) ‘ ! 2x4x M6 x 1.0 thread through
\ ‘ | | From the opposite side
- - - T 2x4 X095 counterbore depth 5.4
§ o——0 & 1
1 o . ‘
©° I 10 e L
L ) | 7 |
. wii ] 9]
8 e 8% =] 58 | ©f s
= i N
: : | Vs
© | —te w
T | ‘ i
I @ © a1 o il
/ I
1 position for set screw 4 x M8 x 1.25 thread depth 15 ,r/ \\ 0847 *8°"° depth 12 2x2xRc1/8/ ’ ‘1
for fixing adjustment bolt Plug (R 1/8) / 5

30 2xRc1/8
R [Cyinder port
/ g
B Y AT
| oo , S
ol® -+ : ).?‘.‘ F‘% >-7—-£ %
N ‘ ] N S & e 2
1 /) w L F
2 x M6 x 1.0 thread depth 7 / 10
2x2xM8x1.25thread 15 2| 164 —
2 x 2 x 08173915 depth 12 41 55 . 4x06.9 through
\
\

| 4011 counterbore depth 7

700

O
2



Slide Unit: Built-in Shock Absorber .
Ball Bushing Bearing Type CXWL Series

232 With End Lock: CXWL32-Stroke/50 to 200 R

28.5 S z -
2x2x M8 x 1.25 thread depth 15 i Q - 2xM14x1.5
2 x 2 x 88n7 8% °depth 12 \" S8 s | /Adjustment boit
015 depth 28.5 L4 P | RN B e 245
(With M14 x 1.5x 20 L | | ‘ / 2 positons for set screws ]' I 4 x M6 x 1.0 thread through
adjustment bolt on the plate) | | [ forfsing adjusing bots Mo | | From the opposite side
— - =il T 4x09.5 counterbore depth 5.4
s ¥ Al o "
o I ) s F o ;
? I | Lk L5 — T
0 é, I I S im gl = Its]
9| g ‘ ; i .8_ 5 = ;gi 93 & | 9
, | | - | |
0 & ; | POy — d
o ’\l‘ $ - é_ = _g__l o1 I
' =
T I | \ 4 x06.9 through v
1) 15 2xRc 1/8 L 65 _| | 4 x 811 counterbore depth 7 15_”!L \\ZXZXRC,@
Plug (R 1/8) - 20.5]_ ] \Cylinder port_
(Cylinder port) 2xRe 1/8
30 L / Plug (R 1/8)

/" (Cylinder port)

RB1411-X552 shock absorber
End lock mechanism 20 Z / 20 2 Xx2x06.9 through
\ [T Progs ] 7] /2x2x @11 counterbore depth 6.5
/ -

Vo {68 hole pitch) /
- | .

/

)
¢

)
4xMBx1.25thread depth 15/ | | 4 positions for set screws

2xRc /8 0817°3%" depth 12\ ' for fixing shock absorbers (M5) (mm)
s s Model L[ P[Q][s[ss]z]z
o : CXWL32-50R 102 80 234 52 162 | 214 | 254
N CXWL32-75R 127 | 105 | 284 | 77 | 187 | 264 | 304
— r o [+ { CXWL32-100R | 152 | 130 | 334 [ 102 | 212 | 314 | 354
{ CXWL32-125R 177 155 | 384 | 127 | 237 | 364 | 404
- CXWL32-150R 202 180 | 434 | 152 | 262 | 414 | 454
CXWL32-175R | 227 | 205 | 484 | 177 | 287 | 464 | 504
CXWL32-200R | 252 | 230 | 534 | 202 | 312 | 514 | 554
Housing mounting type with auto switch Plate mounting type with auto switch
CDBXWL32-[Stroke|, CDBXWL32-[Stroke|R CDPXWL32-Stroke|, CDPXWL32-[Stroke|R
. HW Ht
Auto switch HW Magnet mounting block Auto switch S ™
I
_ Ty ﬁ%ﬁ
— ]} =
3 2 | 3 I— 5
— L-L s | °
Note 1) The dimensions show D-A7 and D-A8. (mm) Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Hs Ht Auto switch model Hw | Ht Hv
D-A70], D-A80 23 | 125 | 15 D-A70J, D-A80 23 15 | 105
D-F70J, D-J79, D-J79W, D-F701W, 25 | 125 15 D-F70, D-J79, D-J79W, D-F701W, 23 15 10
D-F79F, D-F7BA, D-F7TNT ) D-F79F, D-F7BA, D-F7TNT
D-A70H, D-A80H 22 12.5 15 D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 15 17.5 D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F7C0WV, D-F7BAV 23 | 125 | 15 D-F701V, D-F700WV, D-F7BAV 23 15 14
D-J79C 24 15 | 17.5 D-J79C 24 | 175 | 16
D-F7LF 30 125 15 Note 2) For 25 stroke, the shock absorber is mounted D'D
Note 2) For 25 stroke, the shock absorber is mounted on a single side of the plate. For dimensions of
on a single side of the plate. For dimensions of 25 stroke, refer to page 702. _xl:l

25 stroke, refer to page 702.

701



CXWL series

%32 With End Lock: CXWL32-[25 stroke|R

Max. 19.5 28.5, 204
2 x 2 x M8 x 1.25 thread depth 15. i 184 M147x 1.5
2x2x 08170 " depth 12 P 137 27 [Adjustig bolt
| L4 55 / 75, .. ..245
|1 | /1 position for set screw 4 x M6 x 1.0 thread through
M14x1.5 | forfixing adjustment bolt / From the opposite side
’— RB1411 owld Wi 4x09.5 counterbore depth 5.4
Shock absorber *\ % % 1 f
] i / 1 o)
1 i / 5
N S dy o
8 | © ¢ i }[ 82 k] 5 [oul B
| | 7
!K 1 1
10 )
= | Nod S}
[5! '\.. hcH é\ _gv‘}_ ! L
| 4 x06.9 through ]
1 15\ 2xRc1/8 65 14 xo11 counterbore depth 7 15 \ 2xRc 1/8.
Plug (R 1/8) 2050 7 T Cylinder port
(Cylinder port)
2xRc 1/8
30, 77 [ Plug (R1/8)
’7 | / (Cylinder port)
| /
) ﬁ ! | 1)
e & fir éi? E
v T
e
RB1411-X552 shock absorber
End lock mechanism 20 164 / 2 x 2 x 96.9 through
\ | M 55+0.05 / 2 x 2 x @11 counterbore depth 6.5
\ | 087 hole pitch) /
.
ﬁ’%ﬁ L/ i
! hd ]
__:L * — o1 &
| R =
Vo &l
A q
P ]
/N
2xRc 1/8 4 x M8 x 1.25 thread depth 15 | Vo 2 position§ for set screws
Plug (R1/8) 08170 depth 12\, |\ for fixing shock absorbers (M5)
(Cylinder port) 14.5
N

Housing mounting type with auto switch
CDBXWL32-25, CDBXWL32-25R

Auto switch
Hw

Magnet mounting block

Plate mounting type with auto switch
CDPXWL32-25, CDPXWL32-25R

Auto switch Hw

$

L8

Note 1) The dimensions show D-A7 and D-A8.

Auto switch model Hw
D-A70], D-A80 23
D-F70J, D-J79, D-J79W, D-F70IW, 23
D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 [ 125 | 15
D-A73C, D-A80C 23 15 | 17.5
D-F701V, D-F70WV, D-F7BAV 23 | 125 | 15
D-J79C 24 15 17.5
D-F7LF 30 12,5 15

Note 2) 2 magnets for auto switches are equipped to the

magnet mounting block.

702

>|
I

—-

S $

Ht

e

T O
I s
& | +
——— O)
CL‘§ T
Note 1) The dimensions show D-A7 and D-A8. (mm)
Auto switch model Hw | Ht Hv
D-A70], D-A80 23 15 | 105
D-F700, D-J79, D-J79W, D-F700W, 23 15 10
D-F79F, D-F7BA, D-F7NT
D-A70H, D-A80H 22 15 9
D-A73C, D-A80C 23 | 175 | 175
D-F701V, D-F700WV, D-F7BAV 23 15 14
D-J79C 24 | 175 | 16

Note 2) 2 magnets for auto switches are installed in the

housing.



Operating Range

Slide Unit: Built-in Shock Absorber
Ball Bushing Bearing Type

(mm)
) Applicable cylinder size
Auto switch model 10 16 20 25 32
Housing

D-A701/A80 : -
D-A7CIH/A8OH mounting 6 6 6 6
D-A73C/A80C A 6
D-E7CJA/E80A  |Housing mounting] 6 — — — _
D-F70/J79 Housing _ 4 3
D-F70V/J79C mounting
D-F7O0W/F70WV 25 3
D-F7BA/F7BAV Plate
D-F79F/F7NT mounting 3 3 25

* Since this is a guideline including hysteresis, not meant to be guaranteed.
(Assuming approximately +30% dispersion)
There may be the case it will vary substantially depending on an ambient

environment.

CXWL series

e |

Other than the applicable auto switches listed in “How to Order”, the following auto switches can be mounted.

For detailed specifications, refer to pages 1119 to 1245.

" Electrical entry Applicable cylinder size
ADEIEN e ot (Fetching direction) IFEELEs Housing mounting | Plate mounting
210,016
Solid state D-F7NT Grommet (In-line) | With timer | 216,20 020, 025
225, 632 230

= With pre-wire connector is available for D-F7NT type, too. For details, refer to pages 1192 and 1193.
# |t is impossible to mount solid state auto switches to the housing mounting 210.

L o o o o o o e e e e e e e e e e e e e e e e e e e e e e e e e R e e e e e e e e e el

703

(]
Ex
N

[z RIE=RIKz]
x| >
|| < |-



CXW series

Specific Product Precautions 1

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

AWarning
1. Take precautions to prevent your fingers or hands
from getting caught between the plate and the
housing.
* Take sufficient care to avoid getting your hands or fingers
caught when the cylinder is operated.

A Caution

1. Make sure that the cylinder mounting surface is flat
(a flatness of 0.05 or less {reference value}).
If it is not flat, it could lead to malfunction.

2.Make sure not to scratch or gouge the cylinder
mounting surface.
Be aware that if the flatness of the housing mounting surface
or the mounting surface of the plates on both sides is affected,
it could lead to a malfunction.

3. Be careful not to twist the two piston rods.
If the piston rods are twisted or bent when mounting the
housing, the operating resistance could become abnormally
high or the bearings could wear prematurely, leading to
reduced accuracy or air leakage.

4. Consider reinforcing the plates.
When the cylinder is mounted on the housing, and the plates
are used for high-speed operation or used as a pusher, use a
connector plate to bridge both plates. Failure to do so could
cause the snap ring to become detached or the set screws to
shift, causing the plates to fall off.

‘ Recommended Pneumatic Circuit

A Caution

1. This is necessary for the proper operation and
release of the lock for cylinders with an end lock.

=

704

‘ Precautions for Handling the End Lock Mechanism

A Caution

1. Do not use 3 position solenoid valves.

Avoid using this cylinder in combination with a 3 position
solenoid valve (particularly the closed center metal seal type).
If air pressure becomes sealed inside the port of the side that
contains the lock mechanism, the lock will not engage. Even if
the lock is engaged at first, the air that leaks from the solenoid
valve could enter the cylinder and cause the lock to disengage
as time elapses.

2. Back pressure is required to release the end lock.
Be sure that air is supplied to the cylinder side without the
locking mechanism (For cylinders with a double lock, the side
with an unlocked piston rod) before starting operating, as
shown in the drawing on the left. The lock may not be
released. (Refer to the section on releasing the lock.)

3. Disengage the lock before installing or adjusting the
cylinder.
The lock could become damaged if the cylinder is installed with
its lock engaged.

4. Operate with a load ratio of 50% or less.
If the load ratio exceeds 50%, this may cause problems such
as failure of the lock to release, or damage to the lock unit.

5.Do not operate multiple cylinders in synchronization.
Avoid applications in which two or more end lock cylinders are
synchronized to move one workpiece, as one of the cylinder
locks may not be able to release when required.

6. Use a speed controller with meter-out control.
Lock cannot be released occasionally by meter-in control.

7. Adjust the stroke within the range of the slotted hole
of the lock finger.
As the hole for mounting the lock finger is slotted, the lock
finger may be adjusted and mounted in accordance with the
adjustment amount of the adjusting bolt. The adjustment
amount of the adjusting bolt is £2 mm (£1 mm for each side).

8. Regarding manual disengagement
Insert a Phillips screwdriver through the lock finger hole to
push the lock piston down and slide it in the unlocking
direction. When doing so, take precautions to prevent your
fingers or hands from getting caught between the housing
plate and the lock.

‘ Operating Pressure

A\ Caution

1. Apply a pressure more than the minimum operating
pressure to the port on the side where the locking
mechanism activates. The pressure is necessary to
release the lock.

‘ Releasing the Lock

AWarning

1. Before releasing the lock, be sure to supply air to the side
without the lock mechanism, so that there is no load applied to
the lock mechanism when it is released. (Refer to the
recommended pneumatic circuit.) If the lock is released when
the port on the other side is in an exhaust state, and with a
load applied to the lock unit, the lock unit may be subjected to
an excessive force and be damaged. Furthermore, sudden
movement of the piston rod is extremely dangerous.




CXW series

Specific Product Precautions 2

Be sure to read this before handling the products. Refer to back page 50 for Safety
Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

Handling on Shock Absorber ‘

‘ Service Life and Replacement Period of Shock Absorber

A Caution

1

. Use caution not to be exposed to cutting oil, water,
or dust, etc.
The RB series cannot be used under conditions in which fluids
such as cutting oil or water are present in atomized form or
come in direct contact with the piston rod, or in which dust
could adhere to the piston rod. Such conditions would cause
malfunction.

2.Do not operate the shock absorber in an
environment that poses the risk of corrosion.
The shock absorber could rust if used in an environment that
poses the risk of corrosion.
Refer to the respective construction for type of material that is
used in the shock absorber.
3. Abide by the table below for the tightening torque
for a mounting nut.
Shock absorber model RB0805 RB1006 RB1411
Applicable slide unit CXWMIE-25 | CxWMz-25 | 225,50
PP e #7 | cxwLa2-25
Thread O.D. (mm) M8 x 1.0 M10x1.0 M14x1.5
Thread prepared hole size (mm) 7.1 09.17%" 012.7°%
Tightening torque
(N-m) 1.67 3.14 10.8

4. Do not scratch the sliding portion of the piston rod

(2]

6.

7

8.

or the outside threads of the outer tube.
Do not scratch or gouge the sliding portion of the piston rod or
the outside threads of the outer tube by striking it with an
object, squeezing it, or by forcefully wedging a set screw in it.
Failure to observe this precaution could damage the seals,
which could lead to oil leakage and malfunction. Furthermore,
scratches or gouges on the outside threads of the outer tube
could prevent the shock absorber from being mounted onto
the frame, or its internal components could deform, leading to
a malfunction.

. Never turn the screw on the bottom of the body.
(This is not an adjusting screw.)
Turning it could cause oil leakage.

Do not turn
. the bottom screw
Piston rod

= s

Do not scratch

Check the mounting nut is not loosen.

The shock absorber could become damaged if it is used in a
loose state.

.Pay attention to any abnormal impact sounds or
vibrations.

If the impact sounds or vibrations have become abnormally
high, the shock absorber may have reached the end of its
service life. If this is the case, replace the shock absorber.

If use is continued in this state, it could damage the equipment
to which the shock absorber is mounted.

Refer to the Operation Manual for how to replace the
built-in shock absorber for the CXW series.

A\ Caution

1. Allowable operating cycle under the specifications

set in this catalog is shown below.

1.2 million cycles RB08OO

2 million cycles  RB100O to RB2725

Note) Specified service life (suitable replacement period) is the
value at room temperature (20 to 25°C). The period may
vary depending on the temperature and other conditions.
In some cases the absorber may need to be replaced
before the allowable operating cycle above.

| Auto Switch Selection for the Adjustable Stroke Type (-138) |

A\ Caution

1. When 50 stroke is adjusted to 40 stroke or less with

the adjustable stroke type (-X138), auto switches
may not be able to be mounted properly since they
interfere with each other if the 2 in-line entry auto
switches are used.

When strokes are adjusted to 40 stroke or less,
select the perpendicular entry type or additionally
select auto switches with 2 built-in magnets (-X169).

705

[z RIE=RIKz] (2]
x| =
v || < || - N



CX2/CXW series
Made to Order: Individual Specifications 1

Please contact SMC for detailed dimensions, specifications and lead times.

Applicable Series

No. | Symbol | Specifications/Description Slidelbearing M Bal fushing bearing No. | Symbol | Specifications/Description Siidelbearingl[BallHiting beaing
CX2 |CXWM CXWL CX2 |CXwWM CXWL

-X138 Adjustable stroke [ ] (] [ ] H | -X168 | Helical insert thread [ ] [ ] [ ]

H | -X146 Hollow piston rod [ ] [ ] [ ] B | -X169 | 2 built-in magnets [ ) [ ) [ J

Symbol
n Adjustable Stroke m

C| Auto switch |X|:| | Type ” Bore sizel -_ | Stroke |— X138

l Adjustment of +2 to —25 mm (max. —12.5 mm on one side) is possible
. . Adjustable stroke exceeding the stroke adjustment range (+2 mm stroke) of standard type.
Specifications
Bearing Slide bearing Ball bushing bearing ‘ Select adjustable stroke type auto switch (-X138) ‘
Series cXx20d CXWM CXWL A Caution
Type Non-lube/Air-hydro Non-lube Non-lube When 50 strokes are adjusted to 40 strokes or less with
N % the adjustable stroke type (-X138), auto switches may not
Bore size 910, 915, 025 210, 516, 020, 025, 032 be able to be mounted properly since they interfere with
Cushion — Built-in shock absorber each other if the 2 in-line entry auto switches are used.
" . n When strokes are ad]usted to 40 strokes or less, select
Stroke adjustable range +2 mm to —25 mm (One side: Maximum —-12.5 mm) the p dicular entry type or additionally select auto
+ Air-hydro type is not available for size 610. swnches with 2 built-in magnets (-X169).
Dimensions
—

CX2N10 to 25/CXW'M0 to 25

A zz
Model | max.)| 259 | 50% | 75% [100% | 125% 150% [ 175%] 200%
[& _CX2N10 19 | 150 | 200 | 250 | 300 | — - - -
— & _CX2(J15 | 18 | 152 | 202 | 252 | 302 | 352 | 402 | 452 | 502
CX2[125 | 19 | 179 | 229 | 279 | 329 | 379 | 429 | 479 | 529
— 4 _CXWM10| 20 — [ 204 | 254 | 304 | - - - -
&) 7z _CXWM16 | 18 — [ 212 | 262 | 312 | 362 | 412 | 462 | 512
+ _CXWM20| 8 — [ 200 | 250 | 300 | 350 | 400 | 450 | 500
_CXWM25 | 19 — 229 | 279 | 329 | 379 | 429 | 479 | 529
CXW“|f20/32 _CXWM32| 10 - — [ 283 | 333 | 383 | 433 | 483 | 533
A (Max.) CXWL1 20 | 188 | 238 | 288 | 338 | — - - -
- s @ CXWL1 18 | 208 | 258 | 308 | 358 | 408 | 458 | 508 | 558
" T 1o CXWL20 8 194 | 244 | 294 | 344 | 394 | 444 | 494 | 544
[ CXWL25 | 19 | 225 | 275 | 325 | 375 | 425 | 475 | 525 | 575
= A S . s 1+ CXWL32 [ 10 — [ 274 | 324 | 374 | 424 | 474 | 524 | 574
¢ —-——1¢ # The -X138 is intended for use with the model with an adjusting bolt on both sides.
P ‘ 7z + Excludes the CXW with end lock (as the lock mechanism adjustment range is 2 mm)

Symbol
E Hollow Piston Rod Specifications m

C| Auto switch |X|:| | Type ” Bore sizel -_ | Stroke | — X146 Construction
210

Hollow piston rod

Piping on the plate side can be used pressurization and evacuation.
For cylinder drive, piping shall be on the housing port. (The slide unit
operation with piping on the plate side impossible.)

215,016,025
Specifications
Bearing Slide bearing Ball bushing bearing -
Series CcX20 CXwWM CXWL
Type Non-lube/Air-hydro Non-lube Non-lube
Bore size (mm)| ¢10, 815, 825* 010, 916, 020, 925, 032 220,232
Cushion With shoclf absorber Built-in shock absorber
(option)

# Air-hydro type is not available for size 210.

® 706



CX2/CXW series

Made to Order: Individual Specifications 2

Please contact SMC for detailed dimensions, specifications and lead times.

E Helical Insert Thread Specifications

In this type, helical insert thread is used for mounting the housing.

C| Auto switch |X|:|| Type | | Bore size | _ | Stroke | — X168

Helical insert thread specifications

Dimensions
—
CX2N10 G R 2xM4x0.7
/ Helical insert thread depth 6
| ¢ 421_45» — =
t -
CX2N10
__ Model G R
"CX2N10-25 | 195 28
CX2N10-50 30 32
CX2N10-75 35 47
CX2N10-100 35 72
CXWM10, CXWL10
F P 4xM4x0.7
Helical insert thread depth 6
M
o #
- +
Iy & Iy & N 1.
T ¥ Y A (2] I
-+ l fy — o
L1 | T
=
CXWM10 CXWL10
Model F P Model F P
CXWM10-25 21 25 CXWL10-25 | 35.5 30
CXWM10-50 26 40 CXWL10-50 38 50
CXWM10-75 26 65 CXWL10-75 | 40.5 70
CXWM10-100 26 90 CXWL10-100 43 90

CXWM20, CXWL20, CXWM32, CXWL32

~F P 4xdJ
/ Herical insert thread depth K
£
¢ S

+ | ¢

®

d+—b4+——+0-+= 8 &

+ I

—— 7
T

Stroke CXWM20 CXWL20 CXWM32 CXWL32
F|lP|F[P|F|P[F[P
25 mm 27 | 25 355 | 5, 37 22 55
50mm | 345 | 35 48 45 80
75mm | 345| 60 |56.5 | 60 70 105
100mm | 39.5 | 75 54 95 41 130
125 mm | 44.5 66.5 38 [ 125 155
150 mm | 57 90 79 90 145 180
175 mm | 69.5 91.5 175 205
200mm | 82 104 195 230

Specifications

Symbol

Bearing Slide bearing Ball bushing bearing

Series cX20 CXWM CXWL
Type Non-lube/Air-hydro Non-lube Non-lube
Bore size 210, 015, 825 * 210, 816, 020, 925, 632
Cushion With sTg;:;t;sorber Built-in shock absorber

= Air-hydro type is not available for size 210.

Helical Insert Thread

Series Bore size J K
cxe0 015 4xM5x0.8 Helical insert thread depth 7
025 4xM6x1.0 Helical insert thread depth 9
016 4xM5x0.8 Helical insert thread depth 7
X 025 4xM6x1.0 Helical insert thread depth 9
016 4xM5x0.8 Helical insert thread depth 7
CXwL 025 4xM6x1.0 Helical insert thread depth 9

CX2015, CXWM16, CXWL16, CX2[125, CXWM25, CXWL25

F P 4xd
Herical insert thread depth K
S
[}
—
& _ L
[ | [ &1
7Y 7:Y o
¢ 2 &
CX2015
Stroke F P |
25 mm 245 20
50 mm 24.5 45
75 mm 27 65
100 mm 27 90 41
125 mm | 39.5 90
150 mm 52 90
175 mm | 64.5 90
200 mm 77 90
CXWM16 CXWL16
Stroke F P 1 Stroke F P 1 m
25 mm 25 25 25 mm 34.5 52
50 mm 35 30 50 mm 47 52
75 mm 32.5 60 75 mm 53 65
100 mm | 37.5 75 53 100 mm | 53 90 53
125 mm | 42.5 90 125 mm | 65.5 90 CXT
150 mm | 55 90 150 mm | 78 90
175 mm | 67.5 90 175 mm | 90.5 90
200mm | 80 | 90 200mm | 103 | 90 CXSJ
CX20J25, CXWM25 CXWL25 CXS
Stroke F P 1 Stroke E P 1
25 mm 28.5 25 25 mm 31.5 65
50 mm 31 45 50 mm 31.5 90
75 mm 33.5 65 75 mm 56.5 65
100 mm | 33.5 90 67 100 mm | 56.5 90 67
125mm | 46 90 125mm | 69 90
150 mm | 58.5 90 150 mm | 81.5 90
175 mm |71 90 175mm | 94 | 90 D-O0
200 mm | 83.5 90 200 mm [106.5 90
-Xtd

707



CX2/CXW series

Made to Order: Individual Specifications 3

Please contact SMC for detailed dimensions, specifications and lead times.

Symbol
I with 2 Built-in Magnets
Specifications
Cl Auto switch |XI:|| Type | | Bore sizel - | Stroke | — X169 Bearing Slide bearing Ball bushing bearing
. " Series cx20 CXWM CXWL
With 2 built-in magnets
Type Non-lube/Air-hydro Non-lube Non-lube
Bore size 210, 015, 825 * 210, 816, 020, 925, 632
Two magnets for auto switch detection are built in. -
= 25 strokes: 2 magnets as standard. This specification is applicable Cushion With shock absorber
for 50 strokes or more.

708

(option)

Built-in shock absorber




	CXWM/CXWL Prior to Use
	How to Order CXWM, Built-in Shock Absorber, Slide Bearing Type
	Specifications
	Weight, Operating Direction w/Different Pressure Ports
	Construction
	Pg. 2
	Pg. 3

	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8
	Pg. 9
	Pg. 10
	Pg. 11
	Pg. 12
	Pg. 13
	Pg. 14
	Pg. 15
	Pg. 16
	Pg. 17
	Pg. 18
	Pg. 19
	Pg. 20


	How to Order CXWL, Built-in Shock Absorber, Ball Bushing Bearing Type
	Specifications
	Weight, Additional Weight w/End Lock
	Construction
	Pg. 2
	Pg. 3

	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8
	Pg. 9
	Pg. 10
	Pg. 11
	Pg. 12

	Operating Range

	Specific Product Precautions 1
	Specific Product Precautions 2
	Made to Order: Individual Specifications 1
	Made to Order: Individual Specifications 2
	Made to Order: Individual Specifications 3



